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Question Number : 1 Question Id ;: 91394329821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation ;: Vertical
Correct Marks ;: 2 Wrong Marks : 0

Which of the following is an indicator of key behaviour in effective teaching as evident from

researches ?

Options :

913943117001,

teacher affect in developing teacher-learner relationship
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engagement in Iearning by students
913943117002,

sissis Ty, USIIG student ideas and contributions

use of process and content questions during teaching
913943117004.

Question Number : 1 Question Id : 91394329821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

AR Trqrell Yoy fasmfaa o # Reie i JIaredehd

913943117001.

forenelt gry 1 O Gierean

913943117002
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913943117003
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913943117004

Question Number : 2 Question Id : 91394329822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following statements identify those which relate to ‘Norm-Referenced Testing’ (NRT).
Select from the code to give your answer.

(a) Covering a large domain of learning tasks with just a few items measuring specific
tasks.

(b) Emphasizing discrimination among individuals in terms of relative level of learning.

(c) Focusingon aspecified domain of learning tasks with a large number of items measuring
specific tasks.

(d) Interpretation requires a clearly defined group.

(e) Interpretation requires a clearly defined achievement domain.

(f) Emphasizing description of learning tasks which individuals can and cannot perform.

Code :

Options :

913943117005 (), (b) and (d)

913943117006, (b), (c) and (f)
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(@), (b) and (c)

913943117007,

(d), (e) and (f)

913943117008.

Question Number : 2 Question Id : 91394329822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (b) 3R (d)

91394311 7005.

(b), (c) ¥R (£)

913943117006,

(a), (b) 3R (c)

913943117007,

(d), (e) 3TR(f)

912942117003,

Question Number : 3 Question Id ; 91394329823 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In the two sets given below, Set - I provides the different levels of teaching and learning

while Set - II gives their exemplars and concerns. Match the two sets and select from the
code to indicate your answer.

Set - 1 Set - II
(Levels of teaching and learning) (Exemplars and concerns)
(a) Memory level ()  Encourages critical thinking based cognitive
interchange
(b) Understanding level (i) Protects personal interest and attitudinal
concerns
(c) Reflective level (it)) Facilitates recalling and recognizing of facts
(iv) Enhances scope for seeing of relationships and
meanings
Code :
(@) (b) (9
Options :

913943117009, (1 @) ()
spveas pings, ) ') v
913943117011, (im) (v) (1)

91394311-7012. (IV) (Hl) (ﬂ)

Question Number : 3 Question Id ; 91394329823 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ; (
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ptions :

913943117009. (1) (H) (HI)

913942117010. (HJ.) (ll) (IV)

913943117011. (111) (IV) (1)

(iv) (i) (i)

913943117012.

Question Number : 4 Question Id : 91394329824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

From the following list, identify the indicators of commitment areas of teachers and learners.
Select from the code to give your answer.

(a) ‘Do it well’ approach

(b) Developing contact with community

(c) Enhancing performance in classroom including teaching-learning processes
(d) Concern for the allround development and readiness to help

(e) Acquiring curricular and content competency

(f) Respecting impartiality, objectivity and intellectual honesty

Code :

Options :

(@), (b) and (0

913942117013.

(b), (c) and (d)

913942117014

(), (d) and (£)

913943117015,

(d), (e) and (f)

913943117016.

Question Number : 4 Question Id : 91394329824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (b) 3R (c)

913943117013.

(b), (c) 3 (d)

913943117014.

912942117015,

(d), (e) ¥R (£)

913943117016.

Question Number : 5 Question Id ;: 91394329825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In which of the following methods of research the independent variable has to be selected
rather than manipulated ?

Options :
Descriptive survey method
913943117017,

Experimental method
913943117018,

Ex post facto method
913943117019,

Exegetic research
913943117020,

Question Number : 5 Question Id : 91394329825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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913943117017,

TANTHS Jgid

913943117018.

SR 9gid

913943117019.

SATHE I
913943117020,

Question Number : 6 Question Id : 91394329826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

In the list of statements given below which of them offer a suitable definition of research ?
Give your answer by selecting from the code.

(a) Research means a repeated search.

(b) Research is basically an answer to a question.

(¢) Research provides an authentic solution to a problem.

(d) Research is an endeavour to prove one’s hypothesis.

(e) Research is a meaning - giving process.

(f)  Research means drawing a sample from a defined population.
Code :

Options :

(a), (b) and (c)

913943117021.

(b), (c) and (£)

9133943117022,

(), (d) and (£)

9139423117023.

(b), (c) and (e)

913943117024.

Question Number : 6 Question Id : 91394329826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

@), (b) ¥R (c)

912942117021,

913943117022 (b)’ (C) ‘ﬁﬂ (f)

(a), (d) 3R (£)

913943117023

(b), () 3T (e)

912942117024

Question Number : 7 Question Id ;: 91394329827 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Ability to see and size up the situation creatively is most relevant at which stage of
research ?

Options :

T At the stage of identifying and defining a research problem.

o1304311700s 11t determining the research design and its execution.

o In fommlatmg research hypotheses and procedures for testing them.

In deciding and identifying the sampling procedures to ensure their representative

o13943117028 Character.

Question Number : 7 Question Id : 91394329827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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913943117028.

Question Number : 8 Question Id : 91394329828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘Research ethics’ is of critical importance in which of the following areas ? Select your answer
from the code given below :

(a) Data collecting

(b) Preparing a seminar paper
(c) Data analysis

(d) Participation in a conference
(e) Writing a thesis/dissertation
(f)  Selecting a research problem
Code :

Options :

(), (b) and (c)

91394311 7029.

(@), (c) and (e)

913943117030.

(d), (e) and (f)

913943117031.

(a), (b) and (f)

912942117032

Question Number : 8 Question Id : 91394329828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

@), (b) ¥R ()

912942117029,

a), () 3R (e)

913943117030.

(d), (e) 3R (£)

913943117031.

(a), (b) 3R (f)

913943117032.

Question Number : 9 Question Id : 91394329829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

While presenting the research outcomes and sharing the same with others, in which of the
following research type, the style has to be impersonal ?

Options :

oeraphic studies
913943117033, Ethnograp studie

I Action research based studies

Causal comparative based Ex post facto studies
913943117035,

Narrative studies
913943117036

Question Number : 9 Question Id : 91394329829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ptions :
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913943117036.

Question Number : 10 Question Id : 91394329830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following methods of teaching will encourage indirect learning ?

Options :

Lecturing with examples
913943117037,

Team teaching
913943117038,

Demonstration on a subject
913943117039,

Collaborative projects
913943117040,

Question Number : 10 Question Id : 91394329830 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
frafaftaa § § sF-6 fremon ugfa staca sifrm 1 seEn < 2

Options :
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Sub-Section Id: 9139431615
Question Shuffling Allowed : Yes

Question Id : 91394329831 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : CDmprehensi-:}n

Read the passage carefully and answer question numbers from 11 to 15.

In noting the nature of human lives, we have reason to be interested not only in the various
things we succeed in doing, but also in the freedoms that we actually have to choose between
different kinds of lives. The freedom to choose our lives can make a significant contribution to our
well-being, but going beyond the perspective of well-being, the freedom itself may be seen as
important. Being able to reason and choose is a significant aspect of human life. In fact, we are
under no obligation to seek only our own well-being. It is for us to decide what we have good
reason to pursue. We need not have to be a great leader to recognise that we can have aims or
priorities that differ from the single-minded pursuit of our own well-being only. The freedoms and
capabilities we enjoy can also be valuable to us. It is ultimately for us to decide how to use the
freedom we have. It is important to emphasise that if social realisations are assessed in terms of
capabilities that people actually have, rather than in terms of their utilities or happiness. First,
human lives are then seen inclusively, taking note of the substantive freedoms that people enjoy,
rather than ignoring everything other than pleasures or utilities they end up having. There is also
a second significant aspect of freedom : it makes us accountable for what we do. Freedom to
choose gives us the opportunity to decide what we should do, but with that opportunity comes the
responsibility for what we do - to the extent that they are chosen actions. Since a capability is the
power to do something, the accountability that emanates from that ability - that power - is a part
of the capability perspective, and this can make room for demands of duty - what can be broadly
called deontological demands. There is an overlap here between agency-centred concerns and the
implications of a capability based approach. The perspective of social realisations will take us to
further issues central to the analysis of justice in the world.

Sub questions

Question Number : 11 Question Id ;: 91394329832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (

Why freedom is seen as important ?

Options :

To succeed in doing things.

913943117041,

To have different life stvles.
913943117042, have ¢ ent tyle

To understand the perspective of one’s well-being.
913943117043

To go beyond the perspective of one’s own well-being.
913943117044,

Question Number : 12 Question Id ;: 91394329833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Why should we go beyond considerations of our own well-being ?
Options :

To follow in the footsteps of oreat leaders.
913943117045, P gree

To think of freedoms of others.
913943117046,

To appreciate that our aims can differ from self-interest.
913943117047

To be able to enjoy our freedoms.
913943117048,

Question Number : 13 Question Id : 91394329834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What 1s of no value for assessing social realisations ?
Options :

Capabilities of people

913943117049

| Utilities

913943117050

o1304311705;  1NAbIlity to use the freedom given

Ignorng the values of freedom
913943117052,

Question Number : 14 Question Id ;: 91394329835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

What is the inherent aspect of freedom ?

Options :

S —— Pleasures of freedom

SUBERS EES Absence of actions

Accountability
913943117055

Well-being of the self

913943117056.
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Question Number : 15 Question Id : 91394329836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The central idea of the passage is :
Options :

Emphasis on variety of personal 1ssues
913943117057.

Use of power for freedom
913943117058,

Responsibility for individual happiness

913942117059

Need for securing justice to all
913943117060,

Question Id : 91394329831 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers : (11 to 15)
Question Label : Comprehensi-:}n
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Sub questions

Question Number : 11 Question Id : 91394329832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TS h! HETEYOl i | S § 2

Options :
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fafy=1 e i 3199 & fofd |

913943117042,

913943117041,

379 f&a & afived b1 gug & fod |

913942117043,

YA f&d o 9fiyey 9 W SH & ol |

913943117044,

Question Number : 12 Question Id : 91394329833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

H BAR 3794 f3a W &I €1 & W i Qraqn =ied ?

Options :

TRA Tt F UefE W e & ol |
3T T Al o IR H fT=R R & fad |

913943117045

913942117046

913943117047, < A4 bl Hew Tzl o TR @ @-fea ¥ =1 @ ¥d 2

013943117045, STANI ToCIT BT START 6 H A 3 & ford |

Question Number : 13 Question Id : 91394329834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TSI YAt 1 Jedishd &e o fordl T 8 ¥ foraen we & §72

Options :

@R T &THe

913943117049

EL LG

913942117050.

W AT 1 S9N HE H STHL

913943117051

- Tl ok Tl S SURl T

913943117052

Question Number : 14 Question Id : 91394329835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 15 Question Id : 91394329836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TS 1 F= 1 96§

Options :

913943117057

913943117058.

_éaﬁqﬁa;g@aﬁmraéﬁ

913943117059

913943117060
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Sub-Section Number: 3
Sub-Section Id: 9139431616
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394329837 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

When students place themselves close to certain communication sources, it will lead to :

Options :

913943117061 Source domination
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Selective exposure
913943117062,

N ive choices
913943117063, egative choice

Impersonal behaviour
913943117064,

Question Number : 16 Question Id : 91394329837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ﬁﬁwﬁwﬁﬁﬁu@w@ﬁ%ﬁ%@ﬁmwﬁmwmw@m

Options :

Hid 9y
TIATCHe: ST TGl

913943117062,

913943117061,

anINItHen <+

GERIESE R E R

912942117063,

913943117064,

Question Number : 17 Question Id : 91394329838 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

ITUHIT (A) :  HEINTA YN <kl forzneff g1 Sewli 1 T foaha el ST 2|
T (R) : srfaerrar H gfig 2 &0 ST 1 favagiadr 9¢1 9 ¢ |

e
Options :

913943117065, (&) 3R (R) HElRS| gl
(A) 3R (R) 3 T E AR (R), (A) B T 0N T

913943117067, (A) WEt &, Wfeh (R) Terd
913943117068, (A) TTeAd %’ AfereT (R) T T

Question Number : 17 Question Id : 91394329838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Classroom communication involves the clear decoding of messages by the
students.

Reason (R) : By increasing redundancy, we can improve the fidelity of communication.

Code :

Options :

Both (A) and (R) are true.
913943117065,

| Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943117066,

o13943117067 (A3) 1s true, but (R) is false.

(A) is false, but (R) is true.

913943117065.

Question Number : 18 Question Id : 91394329839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fleeting changes that occur in facial expressions of teachers in a classroom are described as :
Options :

Significant - momentary movements
913943117069.

nformational - momer movements
913943117070. I ational - momentary movement

Macro - momentary movements
913943117071,

Micro - momentary movements
913943117072

Question Number : 18 Question Id : 91394329839 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e H femhi 1 GEERfd g1 1 % 31fieafed H 8 o v IEd wead © :

Options :
913943117069, el ~ &iforeh |
913943117070, M CHD = TR Hee

I - &Tforh HereH

913943117071,
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GeH - &fiureh Hee

913943117072.

Question Number : 19 Question Id : 91394329840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identity the correct sequence of decoding process of communication in the classroom.

Options :

s13943117075. Bvaluation, Interpretation, Sensory involvement, Feedback

Feedback, Sensory mvolvement, Interpretation, Evaluation
913943117074

; : \ 3 il s i L] -+ - . -}
S Sensory involvement, Interpretation, Evaluation, Feedback

Interpretation, Evaluation, Feedback, Sensory involvement
913943117076.

Question Number : 19 Question Id : 91394329840 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HENTT FUYT 1 GiHAT 6 Fal foGha 3TshH i U9 Hife |

Options :

- ek, e, sfEa-afre, gfagfe
- gfegfie, sfa-wie, e, e
 3fea-af=rd, fe=A, geaie, wfagfe

913943117073

913943117074

913943117075

913943117076, EEE 1, Hedloh, W.i W"‘W

Question Number : 20 Question Id : 91394329841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the following :

Given below are two sets. Set - I embodies the types of communication while Set - I provides
their exemplification. Select your answer from the code given :

Set - 1 Set - 11
(Types of Communication) (Exemplification)
(a) Linear communication i) Members are given themes on which they are

required to hold discussion.

(b) Interactive communication (i) A teacher in the classroom presents a
structured content

(c) Transactional communication  (iii) The principal of a college holds the staff
meeting for understanding their problems.

(iv) The teacher and students in a college go on
rampage
Code :
@ b (©

Options :
sisasivoyy, A 4 (B8)

i) (i

913943117073. (IV) (

@ @) 0

913943117079.

@) (@v) (i)

913943117030.

Question Number ;: 20 Question Id : 91394329841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T @ T fer e ¥ wwe - 1 H g9 % yeR i e ¥ sefe ege - 10 s
TR F&a forw 7w ¥ 1 = feu T e w1 =e T o1uen I A

= - 1 =T - 11
(TUTOT o WehTY ) ( FeeieienToT )
(2) YT G () TRl @ ey W forwdi wouEl w0 % Tl ww
ST E |
(b)  STRIHATHE T (i) oFel T Torereh U Gifea foud T S 2|
(c) Toranfafae i (iii) Tk WRMRNE W AU IfeRHAT il THE

QU ¥ STh! SIS ST ¢ |
(iv) WETeranerd | et wd feranel Sy #=md )

(a) () (o)
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ptions :

913942117077 (111) (1) (H)

913943117078. (IV) (ll) (Hl)
913943117079, (U') (l_‘ll) (1)

913942117080. (1) (IV) (]_Ll)

Question Number : 21 Question Id : 91394329842 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
In the sequence of numbers 5, 19, 49, 101, 181, 295, x, ...... , the term x is :
Options :

913943117081. 401

912942117082, 351

913943117053, 449

913394311 7034. 501

Question Number : 21 Question Id : 91394329842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
& STTHA 5, 19, 49, 101, 181, 295, %, ..., H W x ©

Options :

912394=2117081. 401

913943117082. 351

912942117083, 449

913943117054. 501

Question Number : 22 Question Id : 91394329843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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If NTA14 and NTA15 are 5-digit numbers such that their sum is 157229, then N+T+A would
be :

Options :

913942117085, 15

913943117036.

41394311 F087.

12
913943117083,

Question Number : 22 Question Id : 91394329843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ife NTA14 991 NTA15, 5-3ihi Il U T=ad & fSFe 9 157229 &1, a1 N+T+A &1 9H
IS

Options :

9132942117085, 15

21
913943117086,

912942117087, 25

913943117058. 72

Question Number : 23 Question Id : 91394329844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A’s mother is sister of B and daughter of C. D is daughter of B and sister of E. How is C
related to E ?
Options :
013943117080, Oloter-in-law

912942117030, Aunt

91394311 7091. Grandmother

913943117082, Mother
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Question Number : 23 Question Id : 91394329844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

AR TABH TEIANCH TN T DIRTBH GA AAME FI oA el CHE Y w1 fwa g2
Options :

it

913943117089,

EIE]l

9139431170%0.

913943117091.

9123942117092 Tl

Question Number : 24 Question Id : 91394329845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

You have recently joined a new office. Walking at 5 km/hour, you reach the office from
your house 15 minutes early and walking at 3 km/hour, you are late by 9 minutes. The
distance between your house and office is :

Options :

5 km

913942117083

8 km

913942117024

3 km
913943117095

2 km
913943117096,

Question Number : 24 Question Id : 91394329845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3T B & H fel 79 e W Ue9R TR fha 1S9 319 379 TR 9 5 foHH/se & = ¥
FAd € 1 39 15 e T8el FEiad Uge S € iR AfE 3mg 3 fordt /s i =1 | 9ad € df 3
9 e X | FEA@T Tgad & | 3% =X | FHEiad & gl ¢ :

Options :
5 ferHl

91394311 7093.

8 Tt

912942117094,
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913942117085, 3 II: il

2 oot

912942117096,

Question Number : 25 Question Id : 91394329846 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
Choose the correct alternative to replace the question mark (?).
42 — 26
71 =78
33 —> 16
62 52

Options :

9139431170%7.
9139431170%88.

9139431170939.
913943117100.

Question Number : 25 Question Id : 91394329846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I 592 (?) & ®H | W&t fashed o1 gHT|
42 — 26
71 — 78

33 — 16
62 — ?

Options :

91394231170%7. 68

913943117098. o4

913942117089, 38
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912942117100, 39

Question Number : 26 Question Id : 91394329847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A cluster of propositions with a structure that exhibits some inference is called :

Options :

An implication
913943117101.

An argument
913943117102,

An explanation
913943117103,

A description
913943117104,

Question Number : 26 Question Id ;: 91394329847 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

%WWWW@WW% IY FET I

RIESIR]

913943117101.

913943117102,

91394311/7103. Al

faao

913943117104.

Question Number : 27 Question Id : 91394329848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two premises. Four conclusions are drawn from them (taking singly or

together). Select the code that states the validly drawn conclusions.
Premises : () Some flowers are red.
() All roses are flowers.
Conclusions : (a) Some roses are red.
(b) Some red things are flowers.
(c) Some flowers are roses.
(d) Al roses are red.
Code :

Options :

(a), (b) and (c) only

91394311/105.

(a) and (b) only

913943117106.

(b) and (c) only

913943117107,

(c) and (d) only

913943117108.

Question Number : 27 Question Id : 91394329848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
== 1 R 9 ST T ¥ g SMUR A | IR frskd el 13 1S9 FE =9I RS
WTHIOTeR €9 § Tepmel TR (SR a1 ol STohet 219dT Tgaa ®9 ¥ o gu) e/ frrepf &1 gwiian
gl
AR AR : () TS BA AA A &

(i) | T A B €|
fem ) FS TAE AT e ¢ |

(b) FS A TEIY Tl BIt & |

() FOFATIEIEI

(d) Gt T AT B T

G

Options :

FIA (a), (b) 3 (c)

913943117105,

FA (a) 3 (b)

912942117106,
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Fad (b) 3R ()

313343117107,

FIA (c) 3R (d)

912942117108,

Question Number : 28 Question Id : 91394329849 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the statements (a), (b), (c) and (d) given below. Which one of the codes contains
the correct statements only ?

(a) Venn diagram is a clear method of notation.

(b) To diagram a standard form of a categorical proposition, three overlapping circles are
drawn.

(¢) To test a categorical syllogism, two overlapping circles are drawn.
(d) Venn diagram is a method of testing the validity of categorical syllogisms.
Code :

Options :

(a) and (b) only

9133943117109,

913943117110 (@), (b) and (c) only

(@), (b), (c) and (d)

913943117111

(a) and (d) only

913942117112

Question Number : 2§ Question Id ;: 91394329849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=1 =R FeAT (a), (b), (©) 3R (d) R four wifvw Frafafed § ¥ 59 $2 # S 9@ FF
I €72

(a) O TG Fohad i TR IS 2|

(b) Torelt Freafaes STURE & A 4 H SIEH 8 o Afdsard 99 @i S € |

(c) Tordlt FUer =mraTe & Sd&on ¥ <1 Sifaeamae 9a ©ie i € |

(d) o @ Tohet U =AIame ST ATHToehal o JeT0 i T 950 2 |

h<

Options :

e (a) S (b)

913943117109,
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912942117110.

(@), (b), (6) ¥R (d)

913943117111.

913943117112.

Question Number : 29 Question Id ; 91394329850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

afe a8 ufaafc i ‘#id For St 727 @' o & 1 = § 9 form wfagfa & fafteg 9 @ 9@ am
1 < o < a1 8 2

 wirey S

913943117113.

FS Fd IR L |
S I AR & |

913943117114.

91394311/7115.

e P fgurR §

913943117116,

Question Number : 29 Question Id : 91394329850 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : (
If the proposition ‘No dog is quadruped’ is false which one among the following propositions
can be claimed certainly to be true ?

Options :

All dogs are quadruped.

913942117113,

Some dogs are quadruped.
913943117114,

Some dogs are not quadruped.
913943117115,

s13943117116, L1LL d0gs are biped.

Question Number : 30 Question Id : 91394329851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A deductive argument is mvalid if :
Options :

o Its premises and conclusions are all true.

Its premises and conclusions are all false.
913943117118,

— lts premises are all true but its conclusion is false.

Its premises are all false but its conclusion is true.
913943117120,

Question Number : 30 Question Id : 91394329851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

fTTHATCHS I AU € Ife

 3H YR o e ey it wE 2 |

913943117117

913943117118, TH% SR a1 T Tsrd |t TTerd 2 |
39 Tl SR R T B I 39T TR e @

913942117119

 3HF Wi YR o1 TTerd B g SHeRT eRE WEl 2

913943117120

Sub-Section Number: 4
Sub-Section Id: 0139431617
Question Shuffling Allowed : Yes

Question Id : 91394329852 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : CDmpI'EhEHSiGH
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The following table shows the percentage of marks (%) obtained by five students A-E in six
subjects S1-56. Maximum marks in all the six subjects S1-56 are 80, 75, 100, 120, 125 and
150 respectively. In accordance with the table given below, answer the questions that follow
(Questions 31 - 35) :

Percentage of marks (%) obtained by five students in six subjects

SRR g $2 53 S 55 S6
(Out of 80 |(Out of 75 |(Out of 100|(Out of 120 [(Out of 125 [(Out of 150
marks) marks) marks) marks) marks) marks)

A 30 72 76 30 50 65
B 60 70 83 90 65 72
C 45 65 44 72 72 82
D 50 75 72 84 64 70
E 65 45 68 60 80 66

Sub questions

Question Number : 31 Question Id : 91394329853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The approximate average percentage of marks obtained by student A comes out to be :

Options :

65 %

913943117121.

74 %
913943117122,

75 %
913943117123,

70%

913943117124.

Question Number : 32 Question Id : 91394329854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference in the total marks obtained by student A in the subjects S3 and $4 taken
together and student E in the subjects S3 and 54 taken together, is :

Options :

913943117125.
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91384311/126.

913943117127.

913943117128.

Question Number : 33 Question Id : 91394329855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The average percentage of marks obtained by all the five students together in subject S6, is :

Options :

71%
913943117129.

69 %
913943117130.

64 %
913943117131,

75 %
913943117132,

Question Number : 34 Question Id : 91394329856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The average of marks obtained by all the five students together in subject S1, is

Options :

913942117133
913943117134.

912942117135,

=~

913943117136.

Question Number : 35 Question Id : 91394329857 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference in the marks obtained by all the five students together in the subjects S3 and
S1,1is:

Options :
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48
913943117137,

98
913943117138,

108
913943117139,

110
913943117140

Question Id : 91394329852 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehensic}n

frfafaa afees | ure faenfiEi A - E & S fawili 51 - Se § uraies o Ufasrd o1 gian T g1 |ed
foedi 51 - S6 H Afereran i AW 80, 75, 100, 120, 125 &1 150 g1 = < T aifctert & STTER
= TS & e (31 - 35) K1 S ST

qre ferenfeiat gr = fawdi § W o7eht =1 whav (%)
e 51 $2 53 s4 S5 S6
i

feremedf (Fa80 |(F@75 |(FA100 |(F&120 [(F@125 [(F=&150
| dE ) |dwad) |swad) |dwda) |swda) |dwaa)
A 80 72 76 80 50 65

B 60 70 88 90 65 72

C 45 65 44 72 72 82

D 50 75 72 84 64 70

E 65 45 68 60 80 66

Sub questions

Question Number : 31 Question Id : 91394329853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forenet A g0 9T STepl &1 39T A9 & TN ;

Options :

0
913343117121. 65%

0
913943117122, /4%
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e
913942117123. 75 %

70%

913943117124,

Question Number : 32 Question Id : 91394329854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

faraneff A =1 forom s3 e 54 H e Wi SR fernedt B &1 g S3 qen s4 H el Wien w6 S
g

Options :

913343117125. 30

913943117126. 36

9133943117127, 28

913943117128. 32

Question Number : 33 Question Id : 91394329855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fawg Se T gt dr= faenf=Ei gro ur fofd T et ot ofrea 9faem & ¢

Options :

0
9133943117129, 71%

0
913943117130, 697%

64%

913943117131

0
913943117132. 757%

Question Number : 34 Question Id : 91394329856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fawa 51 § 9eff urei faenfoiai R wra a1 19 il 1 3 ©
Options :

913943117133. 48

50

913943117134.
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49

913943117135.

912942117136, ol

Question Number : 35 Question Id : 91394329857 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fawr 53 qur S1 H [y ui= fanfelE grn e fod 12 3iehi &1 3=/

Options :

913942117137. 48

913943117138. 98

913943117139. 108

913943117140, 110

Sub-Section Number: 5
Sub-Section Id: 0139431618
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394329858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following pairs least matches in respect of Computers ?

:t;:;l 7147, 1 Glgabyte : (1024) x (1024) X (1024) Bytes
913943117142, LCD : Light Crystal Display
RO - : Universal Serial Bus
613943117144 GUI ; Graphical User Interface

Question Number : 36 Question Id : 91394329858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafad § | SFE 1 F & a8 § 7e9qq &9 8§ 7 Tl § 2




wWww.prepp.in .repp

Your Personal Exams Guide

Options :

913943117141, 1 TIMeEE : (1024) x (1024) x (1024) €RLH
913943117142, RIS : SIECAERSS @H‘@'
913943117143, LT, : REERERIC SR
913943117144, .7, ST : ThHhS ISR TSR

Question Number : 37 Question Id : 91394329859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Amit has decided to use either a DVD-RW or DVD-R. Select statements that are TRUE for
these storage devices.

P: Both DVD - R and DVD - RW are read only.

Q: DVD - R can be written to only once.

R: DVD - RW can be written to many times.

S: Both DVD - R and DVD - RW can be written to only once.

Options :

P only

913943117145,

S only

913943117146,

P and R only

9138943117147,

Q and R only

913943117145.

Question Number : 37 Question Id : 91394329859 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
ATHa - T S-SR T, A1 AL - H | forelt weh o SuEn ot Fofe o §1 S et
1 T, S YR STEHT & AH H Het 2

LA 3 R ) | i | Ry R e M | e B 2 e - e 1 L e

7, : SAE-IR | Faa & 9R fa@r s g )

AR, : O -RTY, R T 9R T S g 2

TH ;. S E-IR IiR A E - ey, T W had U AR feran ST Hekdl )

Options :
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913943117146

913943117147

913943117143

Question Number :

Your Personal Exams Guide

o .
I T,
e i, 3R 3R

38 Question Id : 91394329860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The following list indicates different types of computer networks. Arrange them in an
ascending order on the basis of geographical space implied.

Options :

913943117143

913943117150

" LAN, WAN, MAN

- WAN, LAN, MAN

MAN, LAN, WAN

913943117151.

LAN, MAN, WAN

9133943117152.

Question Number :

38 Question Id : 91394329860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Frefefiad g=it § sregeX A2 & fafa= geri 1 <o 71 ¥ | 3¢ siaf-ifea fsinnfirea @9 &
SMYR W 3TRE shH H gafed Sifsu |

Options :

913943117149

913943117150

913942117151

9133943117152

 TAUT, SRY LT, T
T U, LT, T

CTHEE, TG, sy LU,

| TA. G U, THU U, e T TH.
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Question Number : 39 Question Id : 91394329861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Computer peripherals are external devices connected to a computer. Which list contains
input peripheral devices ONLY ?

Options :

Speakers, Scanners, Mouse, Modem
913943117153

Kevboard, Projector, Mouse, Flash drive
913943117154, ~&Y / ] / 58 ol

T —— Mlcrophoneg, Track-ball mouse, Scanner, Touch screen

Laser printer, Graphic tablet, Barcode reader, Hard disk
913943117156,

Question Number : 39 Question Id ;: 91394329861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

FIRR I FHRR I T[S FRI ST B1d €1 T i o Shaa 399 Twed fau e €2

Options :

913942117153,

913943117154.

TAREHIF, ch-did ASY, Th, 29 ShiH

913943117155,

913943117156.

Question Number : 40 Question Id : 91394329862 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :
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Read the following spreadsheet (MS-EXCEL) :
EXCEL Spreadsheet

A B @

10 | 16
20
8
12
5 0

The equation in cell B2 is = A2+ BI.

This equation is then copied and pasted to cells B3, B4 and B5. What should be the value in
B5 ?

Options :

N RV I CY

36

913943117157.

24
913943117158,

44

91394311/7159.

o6

913943117160.

Question Number : 40 Question Id : 91394329862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefalaa Weeie (T.1E. - ) i gfet :
T WEvie
A B C
10 | 16
2

8
2

0
A B2 H THIHTOT & = A2+ BI.

TH% ST HIHIOT 1 G o7 ST & 23R B3, B4 371 B5 H U2 IR fSa1 S €1 B5 1 HF 31 A1
=ifie 2

Options :

=

]

G| W] =

91394311/157. 36
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913942117158 24

912942117159 44

913943117160. 56

Question Number : 41 Question Id : 91394329863 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The tsunami that occurred in south and south-east Asia in December, 2004 was caused due
to :

Options :

An earthquake
913943117161,

A volcanic eruption
913943117162,

A hurricane
913943117163

A tropical cyclone
913943117164,

Question Number : 41 Question Id : 91394329863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

feger, 2004 H e qen Sfeqo-qe T § 1A YA T SRR o :

Options :

*

913943117161, 11

913943117162 W <l [HenciHl
guSH (3RER)

ELUCIECR R EG e aE|

9139421171863.

9133943117164,

Question Number : 42 Question Id ;: 91394329864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the fc:]lnwing gases initiates a chain reaction that breaks-down ozone in the upper
atmosphere ?7
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ptions :

Nitrogen dioxide
913943117165,

Carbon dioxide
913943117166,

Hydrogen sulphide

913943117167

Chlorine

913943117163.

Question Number : 42 Question Id : 91394329864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SO argHed ¥ frefataa 8 | S-9 T 39 Jufera wfafea o omy st § fomd sisim 2z
82

Options :

913943117165. TZSISM SR3NES

c v
9139435117166. Pl slg ;

913943117167, ::’a‘ :
913942117168 | ﬁ“ | |

Question Number : 43 Question Id : 91394329865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

High level lead (Pb) exposures in humans through inhalations or food consumption may
cause :

(a) Mental retardation

(b) High blood pressure

(c¢) Disorder of central nervous system

Select the correct answer from the code given below :

Options :
913943117169, (a) and (b) only
913943117170 (b) and (c) only

(c) and (a) only

9138943117171.
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913943117172, (a), (b) and (C)

Question Number : 43 Question Id : 91394329865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3G AU SH % WEAY § IR 70 H Wil (Pb) F Y9 H @A 9 e §?
(a) HEAFES HA

(b) = =M

Trefafad § 9 W&l %2 &1 =997 L IW SN

Options :

ad (a) 99T (b)

913943117169.

ke (b) T (c)

912942117170,

Fad () AT (a)

913943117171.

(a), (b) 9 (c)

9133943117172

Question Number : 44 Question Id : 91394329866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In a human population, which is undergoing the demographic transition, which of the
following generally decreases first ?

Options :

Life expectancy
913943117173. _ -

Level of education
913943117174.

Death rate
913943117175.

Birth rate
913943117176.

Question Number : 44 Question Id : 91394329866 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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T SR T SR TRed 1 @ §, e fretated § ¥ e e ved o
Options :

SICER I

913943117173.

913943117174, ﬁ{[&:" kil

913943117175, 1 g <

912942117176, H <X

Question Number : 45 Question Id ;: 91394329867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Assertion (A) : The ecosystem surrounding a river gets damaged due to construction of a
dam.

Reason (R) : The area gets inundated with large volume of water.

Choose the correct code :

Options :

__ Both (A) and (R) are correct and (R) is the correct explanation of (A).
913943117177,

s13043117175 BOth (A) and (R) are correct, but (R) is not the correct explanation of (A).

913943117179, (A) is true and (R) is false.

913943117180, (A) is false and (R) is true.

Question Number : 45 Question Id ;: 91394329867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

AR (A) : TRl 7t & - ol wiRferfoen <ot ST sy o9 | oo gran €1
ST (R) : foreet ST ° o% & <9 Sl ¢
F@?ﬁﬁﬁ:

o (A) 3T (R) SFI 9l & 3R (R), (A) I &l &S € |

913943117177,

013943117178, (A) 3R (R) <M &=l g g (R), (A) i Gl e 78 € |



wWww.prepp.in .repp

Your Personal Exams Guide
(A) T& ¥ 3R (R) 7o €

913943117179,

A) A 8 3R (R) 9&l €|

913943117150. (

Question Number : 46 Question Id : 91394329868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the f(-}llowing has larger scope for the possibility of hands on experience ?
Options :

Seminar
913943117181.

913943117132. Conference

Workshop

913943117153.

Symposium
913943117184,

Question Number : 46 Question Id : 91394329868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
IR fhaTeg 3TV & o) Teg i Temey forad 2

Options :

91394=2117181. y " -D;I
913943117132. T

SHTAITAT

913943117183,

913943117184,

Question Number : 47 Question Id : 91394329869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is less oriented towards knowledge dissemination ?

Options :

913943117185. Seminar
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913943117186. Classroom

913943117157, Field work

syzeusyizies, Journal

Question Number : 47 Question Id ;: 91394329869 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

mm%ﬁﬁmﬁ@aﬁﬁ%ﬁww%?

G
T IR
&3 HH

912942117185,

913943117156.

913943117187.

UiTeRT (S )

913943117188.

Question Number : 48 Question Id : 91394329870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following body is empowered with the role of appointment and approval of
teachers in a University System in India ?

Options :

Board of Management/Executive Council/Syndicate
913943117189

913943117190, Academic Council

Board of Studies
913943117191,

University Court/Senate
913943117192,

Question Number : 48 Question Id : 91394329870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IRd ¥ foavafaene™ ggia # firereni &1 FRYf a9 iER & T fHefafeaa 5 9 f69 e &
AYFR Y T T 72
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Options :

913943117189

913942117190, ;\
q13a \fafd

9139431171381

 fovafaemea s/ e

913943117192

Question Number : 49 Question Id : 91394329871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is entrusted with the responsibility for coordination and quality of
higher education in India ?

Options :

Bar Council of India

913943117183.

o13043117104 LiSSOciation of Indian Universities

University Grants Commission
913943117195,

NITI Ayog

9139431171396,

Question Number : 49 Question Id : 91394329871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gRa T =1 fen & I e oresn i ier fRe | i g2

Options :

- R faty aREg

913943117193

913942117194

- i St

913943117195

913943117196

Question Number : 30 Question Id : 91394329872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Who is the administrative and academic head of Indian University System ?
Options :

Chancellor of a University
913943117197,

O — Vice-chancellor of a University

Registrar of a University
913943117199,

Dean of studies in a University
913943117200,

Question Number : 50 Question Id : 91394329872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR favafaemera gumelt & gemefaes aen Aaforn S1eel [ 26 8 2

Options :
_ Tovafarmera 1 Fatédfa
912942117197,
IEECIEEI MR ARE TG
913943117198,
o ToETeRe T e
913943117199.
favafasnea & o™ A
9123942117200,
PEL[C!EI‘ I1
Group Number : 2
Group Id : 913943392
Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 200
gz Forensic science
Section Id : 0913943392
Section Nuinber : 1

Section type : Online
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Mandatory or Optional: Mandatory

Number of Questions: 100

Number of Questions to be attempted: 100

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 9139431619
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394329873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Arrange the following petroleum products in increasing order of boiling point :
(i) Liquified petroleum gas
(ii) Naphtha
(iii) Wax
(iv) Aviation fuel

(v) Gasoline
Choose the correct answer from the code given below :

Code:
Options :
913943117201, O 7 (¥ G, ()
913943117202, ) ), (), (D)
913943117203, B O, (D, @)
913943117204, (1)’ (11)? (‘F}, (IVJ, 'I:].l.l)

Question Number : 31 Question Id : 91394329873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fFrafofaa Fgiferm Icast =it Ty % =gd g¢ 0 § sHaftuq Hifwg

(i) g Yifemm o (wardish.)

(i) =TT

(iii) H

(iv) femrm-de

(v) faifem

% R e g2 # & v SR gh

B
Options :
9123943117201 (1)1 (V), (lv): (11], 'I:].ll)
913943117202, o AV (V) (), G
913943117203, > W (V) @D, ()
913943117204, (1)’ (11)? (‘F}, 'I:IVJ, 'I:].l.l)
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Question Number : 52 Question Id : 91394329874 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the following is the innermost layer of human hair ?

Options :

913943117205.

913943117206.

913943117207,

913943117208.

Medulla

Cuticle

Cortex

Secales

Question Number : 32 Question Id : 91394329874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafiag # @ *i9-a1 w=a % 9@ % gea el W@ g ?

Options :

913943117205.

qfesrnt
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Fqfeha

912942117206,
913943117207.
912942117208, e

Question Number : 53 Question Id : 91394329875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

During the process of Portland cement manufacturing, a mixture of limestone, clay or other

materials are heated at around temperature.
Options :
913943117209, Haere
913943117210. S0
913943117211. LR
913943117z12. 2000°C

Question Number : 33 Question Id : 91394329875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qiécte e fafmior it wfshan & Shm, S-veer, gt o s qmfirt o o 6t e

aTasen I R S R )
Options :
913943117209, 1025%;&
9123943117210, Bﬂﬁﬁs"ﬁ
913943117211 1450 oA
913943117212, 2000%‘)&

Question Number : 54 Question Id ; 91394329876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Which of the following techniques is used for determining the generic classification of the
polymer type ?
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Options :

Laser microspectral analyser
913942117213, g

Differential thermal analysis
913943117214.

Polarised microscopy
913943117215,

Polarometry
913943117216.

Question Number : 54 Question Id : 91394329876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR % TR TSI Ffientor o SR gq Feiciiad @ & foea aefien ot s foman a3 2

Options :

Il b
913943117014, TR QN TR
913943117215 SR TG
sisnaiims, T (R

Question Number ;: 55 Question Id : 91394329877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following part of the human hair includes nuclear

DNA ?
Options :
Tip of hair
913943117217,
913943117215, Vedulla of hair
Root of hai
QISHARTIFELE, oo et
913943117200, —haftof hair

Question Number : 353 Question Id : 91394329877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



www.prepp.in 'repp

Your Personal Exams Guide
Correct Marks : 2 Wrong Marks : 0

ure arel & Fefefiga # @ foeg v 4 Tifteha oo, ft e war 2 2
Options :

913943117217. B oK

913942117218. T

el S TS
913943117219,

qIed
913943117220. &

Question Number : 56 Question Id ; 91394329878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
The study of hair is also known as which of the following ?

Options :

Histology
913943117221.

Trichol
913943117222. =

Phytol
913943117225, Fiolgy

Pathology
913943117224.

Question Number : 56 Question Id : 91394329878 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

A % A i Fefafga A a fmm m A s ST 2 2
Options :

Fash fasm
9133943117221.

% faem
913943117222,

913943117223. el

ferpfr ferm

913343117224.
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Question Number : 57 Question Id : 91394329879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Earliest post-mortem change is greenish discoloration over the face.
Reason (R):  Putrefaction produces H 25 which combines with hemoglobin to form

sulfhemoglobin.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943117225,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943117226.

(A) is true, but (R) is false.
913943117227.

(A) is false, but (R) is true.
913943117228.

Question Number : 57 Question Id : 91394329879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= q o R e 2, Form @ T Al (A) B 9IR qU T (R) 3 | o1 i afey ok A= feg e
FC I FE F T8 IR AT |
SYHYT (A) : e % ITEIG, B 91t Fad g IRada # 9@ % F ghd Trdiar ot 2 |
T (R) : T @ H,S I gt @ St giedifor 3 fremm gewdmraifed s 2 |

Options :

A) A (R qdT (R), (A) it gt =avea
913943117225, ) A ) TRt W 2 T (R), (A) el 2

(A) 3R (R) g1 Tt &, Tg (R), (A) < adt e & R |
913943117226,

A) (R) Taid 2 |
913943117227, (T, 7Y &

A) THAT (R) 1
913943117228, ( R, T ® R

Question Number : 38 Question Id : 91394329880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In Paint analysis “XRD” is more suitable for inorganic pigments rather than
organic pigments,
Reason (R): Inorganic pigments are more likely to produce crystalline structures than
organic pigments.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942117229.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943117230.

(A) is true, but (R) is false.
913943117231.

(A) is false, but (R) is true.
913943117232,

Question Number : 58 Question Id : 91394329880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= @ o Ry €, fomit 3 o e (A) R iR g ok (R) % | et Bt o ol AR Ry g
% 1 TN H e I AT |

3fiepeT (A) : A9 Tagaieor § “XRD” Hreif1e qofehl I STSIRI AHa(- Fulehi o frg sifereh Jugaa 2 |

T (R) : HTED Fulht GRT Hra 1o JUlhi shl TAT | AR TTEATE G411 hY SHIT ANTAT Bt
21

Options :

ST
913943117229, () 3 (R) SR et & 9901 (R), (A) 1 =l 21

(A) 3 (R) gHt 981 &, 9¢g (R), (A) A wdt e 78 2 |
9123943117220,

A , Wg (R) Terd § |
913943117231, | HlY, ey oA

(A) Ted 8, 9g (R) Tt & |
913943117232,

Question Number : 59 Question Id : 91394329881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements is nof true ?

Options :

The chemical and physical effects of various electromagnetic radiations are quite similar.
913942117223.
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The potential energy of an atom depends on the electronic configuration.
91294=1172=24, P e " et

Molecular spectra are much more complicated than those of atomie spectra.
913843117235, P

X-rays cause the ejection of inner electrons from matter.
913943117236.

Question Number : 59 Question Id : 91394329881 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

freafaflas § @ sH-ar $9= ad 787 2
Options :

913943117233, fafrt forga, gerhrr fafs o1 T S st STt oot e 21 & |

913943117234 forelt Ty =AY TR ot Setgion fo-are W Fof et @ |

anfoees famama famama i o wga fees wfed
913943117235, Ll q& T W g AT

wFE-L % HRo foRdt gom @ orviafes sl W Frre Wit # |
913943117236,

Question Number : 60 Question Id : 91394329882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Bragg equation is associated with which of the following techniques ?

Options :

Differential Thermal Analysis
913943117237.

X-ray Diffraction Analysis
9139431172385.

Microspectral Analysis
913943117239. .

Reflectance Analysis
913943117240.

Question Number : 60 Question Id : 91394329882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

sin Tt FreferRaa # @ e Tofies @ Teaifom 3 2

Options :
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favies ardta fergeimo
913943117237.

uFa-3 fads vt
913943117233,

geatrdia fRgayn
913943117239,
913943117240, AT e

Question Number : 61 Question Id : 91394329883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Derivatization prior to gas chromatography is often desirable.
Reason (R): It changes the separation properties of compounds by the purposeful

adjustment of their volatility.

Options :

Both (A) and (R) are incorrect.
913943117241,

(A) is correct, but (R) is incorrect.
913943117242.

Both (A) and (R) are correct.
913943117243. &) (R)

(A) is incorrect, but (R) is correct.
913943117244,

Question Number : 61 Question Id : 91394329883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= @ o Ry T €, fit @ o aifiehem (A) § ofR g ok (R) % | et Bt o ok AR R g
¢ H TN X gl IR g |
fiepe (4) :  IF fta aoifel @ 7o sgea @ gedft vl afedia 2 2 |

T (R) : 798 It TREdeiierar % SEtees THrESE gRI Afehl % ggasr ot | 9gam

<G
Options :
013943117241 A BT T T |
(A) T8 2, TF (R) Teid 2 |

913943117242.
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913943117243. QSR (e |

(A) TTed 8, g (R) Tt & |
913943117244,

Question Number : 62 Question Id : 91394329884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mercury cadmium telluride (MCT) detector is in which of the following instruments ?

Options :

UV-visible microspectrophotometer
913943117245, B

FT-IR microspectrophotometer
913943117246, P

Electron probe micro analyser
9138943117247,

Capill electrophoresis
9138943117248, P b

Question Number : 62 Question Id ;: 91394329884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

qehit Fefirm dqugs (W) ggas % s Frefafas @ @ fea o= o Ren s 2 2

Options :

ST} -G YRy SeRremTdt
913943117245, b

U%. &Y.~ 733N, gergHiserrmmdt
913943117246,

g B Sirg e & i gen favees
913943117247, ¥

et SgaeifE
913943117248,

Question Number : 63 Question Id : 91394329885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The outer-wall of capillary columns in gas chromatography is coated with polyimide in order
to protect the thin-wall from

Options :

913943117249, Corrosion
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913943117250, oratches

913943117251, reat
Humidity

913943117252,

Question Number : 63 Question Id ; 91394329885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

fta quicta ® Seftg sicm i are-fif W aichurge s g g srar 8 arfss veeft-frf =

_ EEWHUE S |
Options :
913943117249. i
913943117250.
913943117251 T
9139423117252,

Question Number : 64 Question Id ;: 91394329886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In UV-spectrophotometer, monochromator is placed before the sample.
Reason (R):  This reduces the total amount of UV energy which falls on to the sample.

Options :

Both (A) and (R) are correct.
913943117253,

(A) is correct, but (R) is incorrect.
913943117254,

Both (A) and (R) are incorrect.
913943117255,

(A) is incorrect, but (R) is correct.
913943117256,

Question Number : 64 Question Id : 91394329886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A= @ Fom Ry e E, Rl @ o aifiepem (A) # oft g 7 (R) # 1 Al it fge oft AR Ry g
e I SN TG I A |
YT (A) :  TUATH-DIFEIBIIHICT §, Teheranieh ht S0Iet S WA @1 WA 2 |

a4 (R) : T W S e aRmr ve St & S e Wesa # |
Options :

913943117253. (AR (REH I |

(A) 9t 2, 9 (R) Teid 2 |
913943117254,

o13043117055, IR MTHTRE |

(A) Ted 8, 9g (R) Tt & |
913943117256,

Question Number : 65 Question Id : 91394329887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements is not correct for a spectrophotometer ?

Options :

Decreasing the slit width will increase noise.
913943117257.

Noise will increase with the age of source.
913943117258.

Decreasing the slit width will decrease noise.
913943117259.

Noise will depend on the wavelen being used.
9138943117260. B gth &

Question Number : 65 Question Id : 91394329887 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
TP F ol § Fraffar dd s-mr s adt adf 2 2

Options :

Al w2 % aRomrasy @
913943117257, REL L=k @ % srfirgfg Anft |

GIa <t Y g7 & IROITRa®Y @ 9e |
913943117258,

913943117259, Y S ST R .
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T vgF qureed A g )
9139431172860,

Question Number : 66 Question Id ; 91394329888 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Artificial radioactivity is

Options :

Induced radioactivity
913943117261.

Natural radioactivity
913943117262.

Having very short half-life
913942117263,

Having very long half-life
913943117264. B very ong

Question Number : 66 Question Id : 91394329888 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Hm Henafiar 2

Options :
9139432117261, seifa et
913943117262, T e

Feqeq Id-Sfaw e g
913943117263,

fufafies d-sfaq v
913943117264. g

Question Number : 67 Question Id : 91394329889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The nature of all electromagnetic radiations is the same.

Reason (R) : They differ only in frequency and wavelength and in the effect they produce
in matter.

Options :

Both (A) and (R) are correct.
913943117265,
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(A) is correct, but (R) is incorrect.
913942117266,

Both (A) and (R) are incorrect.
913943117267,

(A) is incorrect, but (R) is correct.
913943117263.

Question Number : 67 Question Id : 91394329889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= § vy fem e 2, ot @ u iR (A) § ok g0 o (R) ® | ot it fee oft = feg e
F T F AL IR I |
sfirpaT (4) : oWt Rrgg-geehra faforoon < wolr wommm Bl 2 )
T (R) : Had It AR 3R 371 qlTeed St goa § e HR Sor v P g 2 |

Options :

913943117265. (TSR (R AR |

(A) 9t 2, 9 (R) Teid 2 |
913943117266,

s13943117057, W IR ETHATRE |

(A) Teld 8, Tq (R) Gt 2 |
913943117263,

Question Number : 68 Question Id ;: 91394329890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : No two signatures can be written exactly alike by one person.

Reason (R): Human hand works on the instruction of the brain and cannot work like a
machine.

Options :

(A) is correct, but (R) is incorrect.
913943117269,

B . [
Sisads] fagp, ©vaua)-and (it aredncarract

Both (A) and (R) are correct.
913943117271,



www.prepp.in .repp

Your Personal Exams Guide

(A) is incorrect, but (R) is correct.
913942117272,

Question Number : 68 Question Id : 91394329890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= @ ua g e &, il & o aifiepm (A) R ok g 7 (R) ® | el ot g ok AR g e
% I AN F T IW AT |

S (A) : T =ala g feegar AIgea g geaer feifieg Tl fohe S @ |

T (R) : TSI T WIS & TN W HE HaT 7 3R g Wi i wits w1t 7€ W gwam

2

Options :

A) ? (R)Tefd & |
913943117269, w2, wg ?
613943117270, NIRRT T |
013943117277, A IREB AL

(A) Td 3, T (R) ¥t § |
913943117272,

Question Number : 69 Question Id : 91394329891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Dermal ridge characteristics used for comparison of fingerprints are also called which of the
following ?

Options :
Henry’s details

913943117273

* +
913943117074, T2uld’s details

* ¥ .
913943117075, ¥ ucetich’s details

’ -

913943117076, Caion’s details

Question Number : 69 Question Id : 91394329891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fnferard it gamt & foe s =i safirar (ede i) sifteaor &t FeafaRaa 3 @ <=0 %8 s
g?

Options :
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913943117273. T

913943117274.

gafes ey

913943117275.

913943117276.

Question Number : 70 Question Id : 91394329892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Agsertion (A) : A fingerprint pattern may have delta and core but still cannot qualify asa

loop pattern.
Reason (R): A loop pattern must have minimum one ridge count.

Options :

(A) is incorrect, but (R) is correct.
913943117277.

(A) is correct, but (R) is incorrect.
9139431172785.

Both (A) and (R) are correct.
913943117279.

Both (A) and (R) are incorrect.
9139423117280, W &

Question Number : 70 Question Id : 91394329892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= & o Ry €, fomil ¥ o e (A) § ofR g@a ok (R) % | et St o o AR Ry g
FE T FH G IR GHT |
g (A) :  Toreht siferoma Y & et ok i 3 Towat B, 39 1S 77 W e w1l @ whar

2
o (R) : T et # =R U SR (Re) JE e |
Options :
S{Easiiy, o &L R |
(A) 9t &, 9 (R) Teid & |

913943117278.
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913943117279. QSR (e |

513043117080, M IR MTH TR Y|

Question Number : 71 Question Id ;: 91394329893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In major classification of fingerprints, which of the following is considered ?

Options :

The ridge count or trace value of little fingers
913943117281.

The ridge count or trace value of middle fingers
913942117282,

The ridge count or trace value of index fingers
913943117283.

The ridge count or trace value of thumbs
913943117284.

Question Number : 71 Question Id : 91394329893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Iferor % AR Fffencor #, frefafaa 9 @ fora o fasr for sran @ 2

Options :

BIY vt o I TUFT FUAT @Y AH
913943117281,

qeyT AT % i < VAT AYST IARG qH
913943117282,

TRt SAfert % R i TOMT AT ARG TH
913943117283

ST 3 HR Y T YT ARG A
913943117284,

Question Number : 72 Question Id : 91394329894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Select from the following lists of glands, which are nof present in the palm skin (ridged
skin) :

(i) Sweat glands

(ii) Sebaceous glands

(iii) Endocrine glands

(iv) Epicrine glands

Choose the correct answer from the code given below :

Code:
Options :
913043117085, ) and ()

i), (i) and (iv
913943117258, O () and (iv)
913943117287, b and (i)

i), (iii) and (iv
9139431170gg, U (i) and (iv)

Question Number : 72 Question Id : 91394329894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

it < Frafafas o= 8 @ s el waa == (S =) 3 387 S E 2

() vag wiei

(i) adta it

(iii) 3T qve fdrat

(iv) ggw viemat

e few T e # & v TR H TR
C T4
Options :
913943117285 (i 31 (iv)
913943117286, , (i R (iv)
913943117237 (i) 3 (i)
913943117288

Question Number : 73 Question Id : 91394329895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Two innermost ridges running parallel, which diverge and surround or tend to surround

the pattern area are called

Options :

913943117259, attern lines
Type lines

913943117290,

913943117291, ‘rch lines
Galton’s lin

913943117292 e

Question Number : 73 Question Id : 91394329895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
gt Ifaey fear (Safiran) gumia sacd 2, fafag 2 srdht 8 oftt ¥t 8 % 2-ird % et € oreran
Fh et st geeea At &, T8 refofae o @ forah W & ot & 2

Options :

913943117289. iR
913943117230, CRT TIER
913943117291. ¥
9139431172932, Tt

Question Number : 74 Question Id : 91394329896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ridge structure in fingerprints is mainly determined by which of the following ?

Options :

Epidermis
913943117293.

Sebum glands
913943117294.

Dermal papillae

9139431172%85.
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Sweat glands
913942117296,

Question Number : 74 Question Id : 91394329896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jnfert & 919 H it T gega: feafafas d @ frea @ @ 2t 2 2

Options :

9139431172%83. TR
913943117294. Wtﬁ?&
9139431172385, i e
913943117296. Tt

Question Number : 75 Question Id : 91394329897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the full form of VSC ?

Options :

Video Spectrum Comparison
913943117297, =

Video Spectral Comparator
913943117298. s

Visualized Spectrum Comparison
913943117299,

Video Simulation Comparator
913943117300,

Question Number : 75 Question Id : 91394329897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freaffas & @ fooadt. sl s Fn g 2
Options :

difeat Twen wifem
913943117297.

difeat Tacer FORT
913943117298
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frrgemsss Sagn w0e

912942117299,

difeat faeT FAR
913943117300,

Question Number : 76 Question Id : 91394329898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In GLC, to elute an alcohol before an ether having nearly identical boiling points, a
stationary phase is needed having which of the following ?

Options :
913043117301, High Z’ value

913943117302, High X value

913943117303, High Y’ value

913943117304, High U’ value

Question Number : 76 Question Id : 91394329898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

sft.uddt. | AT TR FEYAS 9 3R @ qd Ueshtea Tram & foe feafafas 7 @ s
R T8 W R e siifem et R 2

Options :

’
913943117301. ¥ 9’ A

F
913943117302, 5= a4 HH

913943117303, 5 9%’ WM

912942117204, Sl Sl

Question Number : 77 Question Id : 91394329899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Prisoners are admitted to open air jail on the authority of

Options :
913943117305, 9 vudicial authorities

913943117306, T ouce authorities
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913943117307, 9o authorities

Army authorities
913943117308.

Question Number : 77 Question Id ;: 91394329899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

forar sferenrdt gra St sifeat ot geft St /O St & 2
Options :

913942117305.

gfera ittt
913943117306,

913942117307, o

913943117308. &

Question Number : 78 Question Id : 91394329900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Regarding different types of satellite DNA match the items of List I with the items of List II
and choose the correct answer from the code given below.

List I List II
(Type of Satellite DNA) (Size of repeat unit in base pairs)
(a) Microsatellite (i) 6

(b) Minisatellite (telomeric) (ii) 1 million — 10 million
(¢) Minisatellite (hypervariable) (iii) 100 — Several thousand

(d) Satellite (iv) 7 — 100
(v) 1-6
Code:
Options :
913943117309, (a)-(1), (b)—(ii), (e)—(v), (d)ii)
iv), (b N ()i
ayzeuziz=yn. T aup e (e, (d ()
b)—(i = d)—(iii
913943117311, (a)—(v), (b)—(1), (e)(iv), (d)—(iii)

sisoaaiirys SRl (h-Gv), (-0, (D)
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Question Number : 78 Question Id : 91394329900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
oo Q.. % it Rt g § e 19 v o o 11w @ e B o 9 R
T % d F Tt SR P gAY |

gt I

gt

(FmmR A w e YER) (i Tm d gRgiee Tar)

(a) HISHIEARES

M 6

(b) fafFddame (Camfer) (i) 1 frferm — 10 Prferm
(c) TufFdeamse (spm dfteEs) (iii) 100 — ¥ TR

(d) d2emge

C -

Options :

913384311 /7309.

913943117310.

91394311/311.

91394311/7312.

(iv) 7—-100
(v) 1-6

(a)-(1), (b)—(ii), (e)—(v), (d)-(iii)

(a)-(iv), (b)—(v), (e)—(1), (d)—(iii)

(a)—(v), (b)—(1), (e)—(iv), (d)—(iii)

(a)-(ii), (b)—(iv), (e)-(i), (d)—(v)

Question Number : 79 Question Id : 91394329901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A part of teeth which is primarily composed of calcium phosphate and makes the outer part
of the teeth is known as which of the following ?

Options :

91384311/313.

913394311/314.

913943117315.

913943117316.

Periodontal ligament

Enamel

Dentin

Cementum

Question Number : 79 Question Id : 91394329901 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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gid <l T feean it P Ffcaam Bivhe & a1 giat @ fvad <o 1 s femr s @, @@
frefafas o 3 feahr g st 8 2

Options :

913943117313.

913394311/7314.

91394311/7315.
913942117216.

Question Number : 80 Question Id : 91394329902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

In cases of mass burials searches of human remains, which of the following techniques is
considered to be the most invasive ?

Options :

Use of ground penetrating radars
913943117317. &= £ &

913943117318, Ground based visual search

Creation of vent holes and use of cadaver dogs
913943117319.

Use of electrical resistivity survey
913943117320.

Question Number : 80 Question Id : 91394329902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arfesh T A THATY T JHS =96t H G s wat J, Fafafas 9 4
HiIF-H TS Taifereh guT T T ST 8 2

Options :

Y-9¢eh TSKL T39I
913943117317

_aifE T 9@ e
913943117318, % &

dard 9¢ S SR a TR e 9ret 9E A S
913943117319, L B
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Sega TaeRieraT TaavT T 39T
913943117320.

Question Number : 81 Question Id ; 91394329903 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
To convict Ted Bundy, which of the following evidence was used ?

Options :
Shoe print
913943117321,
913943117300, Dite mark
913943117323 DA
e Impression
913943117304, TTC P

Question Number : 81 Question Id : 91394329903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

¢3 93t it grafig A o forg Frafeifaa @ @ fora wnga st s fom T o 2

Options :

3¢ BN
913845117321,

i % e
913943117322,

IR A
913943117323. S
913943117324, TR S 15

Question Number : 82 Question Id : 91394329904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following computer databases is created to help forensic anthropologists in
determining various traits of personal identification ?

Options :

912942117325, s

913943117326. AL
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913843117327. RROIEC

913943117328. DPSIEG

Question Number : 82 Question Id : 91394329904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=qfaaTa gga & fafim sfdraaot +1 s@ure F@ § ~Ardftes Fmiet H agra % foag
fFrefafias % § $-m1 Fog Somg ghve TP man g 2

Options :

913943117325, B
913943117326, T
913943117327, | ORDISC
913943117325, DORDISC

Question Number : 83 Question Id : 91394329905 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For personal identification from skeletonized human remains, which of the following is not
of potential use ?

Options :

Surgical implants
913943117329,
913943117330, Dental anomalies
913943117331 L At00S

B disord
Wi Calirs s o T

Question Number : 83 Question Id : 91394329905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

FHbTeThd WG ATl & safed it T2H w1 & fore Frafafas 9 @ S-ar awifea seim & o a8
g?

Options :



www.prepp.in .repp

Your Personal Exams Guide

affea gearea
913942117329,

aq Tagmfeat
913943117330,

&

91394311/331.

913942117332

Question Number : 84 Question Id : 91394329906 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (4) : Ossification of bones helps in estimation of age in subadults.

Reason (R):  Epiphyseal unions in most of the bones are complete by the age of 18.

Options :

Both (A) and (R) are incorrect.
913943117333,

siggas] iy —om (N and (R) are correct

(A) is correct, but (R) is incorrect.
913943117335,

(A) is incorrect, but (R) is correct.
913943117336,

Question Number : 84 Question Id : 91394329906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A9 Q) o Ry e E, Rl @ o aifiepem (A) # oft ggu 7 (R) % 1 oAl it afge oft R Ry g
e I SN TG I AT |
AP (A) :  ATCUYER IUSATHI <l A F FTAH AT § FZTS 21l ¢ |

T (R) : AAferpre aifeert 3 S 9 18 9 H A TH W R 91 8 |
Options :

518045117535, WIR BT TR Y|

013943117334 A TERTATL

(A) 9t 2, 9 (R) Teid 2 |
913943117335,
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A m ] . R l
913942117336, @ R g T

Question Number : 85 Question Id ; 91394329907 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Which of the following indicates that skeletal remains recovered are contemporary ?

Options :
Grainy pitted texture
913943117337.
913943117335, rooth bone surface
Fixed burial position
913943117339,
913943117340, Drown colour of skeleton

Question Number : 85 Question Id : 91394329907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafafias # @ i 98 e =t 2 6 sure e Mo Sera oras auereia 8 2

Options :

gMER e aran fomama
913943117337

ey i foft waz
913943117338,

geATe W hr Fifeaa feurfer
913943117339,

T <l 8T T
913943117340,

Question Number : 86 Question Id : 91394329908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Bertillon developed which of the following methods of personal identification ?

Options :

Anthropome
913843117341. pometry

Fingerprints
913943117342.
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Lip prints
91294=2117=243.

ootprints
913943117344,

Question Number : 86 Question Id : 91394329908 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Jaftn Taa i fiefafad 9 @ F5-H agfa sféam gra fasfta & 78 of 2

Options :

913943117341. mﬁﬁﬁ
913943117342. m
913943117345. 3 I
9129421173244, T

Question Number : 87 Question Id : 91394329909 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following skeletal remains are considered the best for stature estimation ?

Options :
913943117345, FoViS
Long bones
913943117346,
Cranium
913943117347,
913943117345, Clavicle

Question Number : 87 Question Id : 91394329909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g, Bl A @A P forn FreafaRas see sadet 3 @ PR-2 ey gad =0 9H W § 2
Options :

913943117345. A
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913943117346.

912942117247,

aget

913943117345.

Question Number : 88 Question Id : 91394329910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the correct age by which all the milk teeth are erupted in humans ?

Options :

913943117349, 20 months
913943117350, S0 months
913043117351, 2+ months
913943117352, 0 months

Question Number : 8§ Question Id ;: 91394329910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

qra i g e gl Freed o o 9w PR § 3 B 2 2

Options :

913943117349. 20 R
913942117250, AR
9139423117351, .
913943117352. S0

Question Number : 89 Question Id : 91394329911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gen. Journee, who gave the formula to calculate the maximum range of a shotgun pellet
commonly known as “Journee’s formula”, belongs to which of the undermentioned
countries ?

Options :
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England
91=294=117353,

Italy
912942117354,
913043117355, | rance
913943117356 United States of America

Question Number : 89 Question Id ;: 91394329911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

e S g g & B h Aftrewaw Hhm & & TReper & forg g3 T o <t wareaan e
@ F A Eia R, A FfoRaa g frmdn s a2

Options :

913943117353. e
913943117354. e
913943117355, o
913943117356. H‘ﬂﬁw Al

Question Number : 90 Question Id : 91394329912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The main purpose of a cartridge case is
(i) Expand and seal the chamber during firing
(i) Easily adapted to be used by any firearm
(iii) Holding the components together

(iv) Could easily be reused
Choose the correct answer from the code given below :

Code:
Options :

i), (ii) and (iii) are correct
913943117357, ), b i

913943117355, ) and (D) are correct
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913943117359, b and(iv) are correct

913943117360, ) and (i) are correct

Question Number : 90 Question Id ;: 91394329912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
FRE  Gid F TS TII51 2
(D) e SeA % S <) A glad e ot w-g
(i) Tt smraes ® g B % forg starh @ sirfiea
(i) a¥t TueHl i TH AY TG FEA
(iv) T STAT A YA:39907 e = ohat 8
fie Ry T 32 7 F v TW A ghT

6

Options :

913943117357, , () 3R (i) T &

913943117358. G T

913943117359, W R (i) T 2

913942117360, (i) 3 (i) T %

Question Number : 91 Question Id : 91394329913 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the undermentioned terms truly represents the space between the primer cup and
the primer pocket ?
Options :

913943117361, ‘nnulus

Battery cu
913943117362. TSR

913943117363, iash-hole

Head ce
913843117364, pa
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Question Number : 91 Question Id : 91394329913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Frafafad @ @ frad STea 9 3 SR T 6 9el i FE9o B 2 2

Options :

913843117361

913943117362, 3t #
AT

9139435117363, E‘Fl
7S g

913843117364.

Question Number : 92 Question Id : 91394329914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of their appearance of the discharge in a firearm :
(i) Bullet

(ii) Unburnt and partially burnt propellant particle
(iii) Scorching

(iv) Blackening
Choose the correct answer from the code given below :

Code:
Options :
iv), (i), (iii), (i)
915945117365. o Uy D4
i), (iii), (iD), (iv)
915945117366. (0, (i), 1)
ii), (iv), (1), (iii)
9135943117367 (), (i), 0.
i), (iii), (iv), (ii)
9135943117368. 0 QD) (v, ¢

Question Number : 92 Question Id : 91394329914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ferelt SmETeR it T A % ITEIG, STAEE B 91 FefaRag +t sfea e H saaftye A
(i) Teh

(i) & 7 g IR i w9 & @ W wieT

(iii) AT

(iv) TIT8 1 B

fre g e %2 7 | wd IW i g ;

%2
Options :

913942117=E5. (1v]l (11), '[1]1), (l}

913943117366, (IJP (111), (11), (l‘ﬂ'_}

013943117367, | O¥» B (W)

913943117363, @, i), i), (@)

Question Number : 93 Question Id ; 91394329915 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Match the following ballistic identification systems with their respective country and choose
the correct answer from the code given below.

List I List II
(¢) FIRE BALL (i) Tissia
(v) Australia
Code:
Options :
I o
siseRs iy, B b M-V, (v, (4D
xv b Y . d .
sisadaiigarg (DD, (B, (-, (D))
913943117371, W (-, (i), (d)~(v)
e o
gizg4ziirays B W E-09), @) (-0

Question Number : 93 Question Id : 91394329915 Question Type : MCQ Option Shufiling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Frefafas @i Tgem womrell it 378 FEfta < | gafad i ok = G 7T 52 1 @ |8 I

i gAY |
I

T 10

(a) LAR TG IwLOOA. (1) 4.1 3wl
(b) .. sft.ua g, (i) IS

(¢) FPRR Hisl

(iii) &4

(d) TA. 3.+ 3., (iv) %id

C -

Options :

913943117369.

913943117370.

91394311/7571.

913343117372,

(v) referan

(a)-(iii), (b)—(iv), (e)—(v), (d)—(i)

(a)-(id), (b)(iii), (e)—(1), (d)—(iv)

(a)—(ii), (b)—(1), (e)iil), (d)—(v)

(a)-(i), (b)—(iv), (e)—(v), (d)-()

prepp
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Question Number : 94 Question Id : 91394329916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When pellets of a shotgun cartridge stick together and travel for large distances as a single

mass, the phenomenon is known as

Options :

913394311/7373.

912942117374,

913943117375.

913943117376.

External ricochet

Krénlein shot

Internal ricochet

Balling of shot

Question Number : 94 Question Id : 91394329916 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

o fortft S5 @ SIS T3 FGE % B 94 H o9 I 2 2 e five % w9 4 o g8 7 9 g,

dt 39 SRH i Ffofaa 7 |/ foreeh! a3 § ot 2 2

Options :
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913943117373, T [T
913943117574, TN T
913943117375, R FEATE
913943117376, N SN e

Question Number : 95 Question Id : 91394329917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The term associated with the ignition of the priming compound of a cartridge due to
overheating is

Options :

Centre fire cartridge
913943117377.

Rim fire cartridge
913943117375.

Cook off cartridge
913943117379.

Proof cartridge
9139431173830.

Question Number : 95 Question Id : 91394329917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Afer-FoHieRor 3 RO HRGE F qEa Ak F e A weaifa e &

Options :

913943117377. HE BRR i
913943117378. Fow e i
913943117379. ﬁmﬂﬁa
912394=2117280. sﬁim

Question Number : 96 Question Id : 91394329918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



www.prepp.in .repp

Your Personal Exams Guide
Correct Marks : 2 Wrong Marks : 0

Lead-2,4,6-trimifroresor-cindte which is used as a priming compound is also known as

Options :

913043117351, Leadazide
913943117382, 1K
SIS9HETT7aEs, Lo Hodizonate
913943117334, oo Syphnate

Question Number : 96 Question Id : 91394329918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A3-2,4,6-gRMpRe-Rrse fras yam wshir i % &9 7 Bt 3, 38 T %1 51a1 3 ?

Options :

G ERUT | £
913942117381
913943117382,

o Ufede
913943117383.

A8 WIgHA
913843117384,

Question Number : 97 Question Id : 91394329919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In primacord, the core is made up of which of the following ?

Options :
913943117335. e
913943117336. AR
913943117337. R
NG

913943117388.
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Question Number : 97 Question Id : 91394329919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

grsATeRiS o g Fraferfiaa ® | forma fftfa grar 2 2

Options :
3.8,
913943117=355. % =
3R, S1. 794,
913942117386. o
CiReC i
913942117387.
LCReif
91394231172388.

Question Number : 9§ Question Id : 91394329920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
Which of the following explosives can nof be detected by ion mobility spectrometer ?

Options :
913943117339. e
913943117=90. HUA
913943117391. Tal®
913942117382 il

Question Number : 98 Question Id : 91394329920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ar aifaferdt Wadiex @ Feafofas 8 & fra feropies varef =5 v aff s st w=ar 2 2

Options :
dt.3.8.1.
913942117389. % A
ARE. T,
9139421172390. N
d.u.d4,

91394311/7391.
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9139432117392, e

Question Number : 99 Question Id : 91394329921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Caffey’s syndrome is

Options :

a condition where the baby is beaten repeatedly by parents
913943117393. Y peatedly by p

the death of an infant within 28 days

913943117394.
precipitate labour
913943117395.
drownin
913943117396. v &

Question Number : 99 Question Id : 91394329921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

b T B
Options :
913943117393, Vet e <l - MR TR i %

i g 28 foar % ftat 3 st
913943117384, Ry 177 28 & B S 2

sftsr

913943117395 i

| grfm
913943117396, T (5 )

Question Number : 100 Question Id : 91394329922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The signs of live birth are

® Diaphragm at level of '?th rib.

(ii) Absolute weight of both lungs is 70 gm.

(iii) Specific gravity of lungs is 1-05.

(iv) Pleura is loose and wrinkled.

Choose the correct answer from the code given below :

Code:
Options :
913943117307, W and @)
(1), (ii) and (iv) are correct
913943117398,
(i) and (ii) are correct
913943117399,
913943117400, ) and(iv) are correct

Question Number : 100 Question Id ; 91394329922 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
70 % qud Sifad B9 % dha &
() SEmeM 7 gaelt WE |
(i) 1 BB 1 Pl IR 70 T A |

(i) $HS i faf¥ree e 1058 |
(iv) o gren 3k gligr & |

B
Options :
913943117397 , (i R (i) T &
913943117398 , () 3 iv) T g
913943117399 () K (i) 7 B
913943117400, (i) 3R () T 7

Question Number : 101 Question Id : 91394329923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Minchausen Syndrome by Proxy (MSbP) is

Options :

Psychiatric condition in which young children grow moustache
913943117401, ¢4 FIEE e

Mother deliberately causes injury to her child to gain attention
913943117402,

An rson (male or female) causes inj to himself to get medical leave
913943117403, ¥R ( J e o

One sibling beats another to gain attention
913943117404,

Question Number : 101 Question Id : 91394329923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

s fagh ar wedt (g ) | sifina @

Options :
TRt g farest St =i A 43 on Wt 2
913943117401,
AT AAGFIH A = Ht =ie daife JTRT X Th
913943117402, TgE 3 i 97 S H
A 9 s st Fafirear g S
913943117403, " (3% 1 i) & HgeT 3 gel fire S
TR WH/aEd @ i et @ A1 9 Iah AR eI ]
913943117404,

Question Number : 102 Question Id : 91394329924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Iatrogenic injuries are

Options :

Produced by self
913943117405,

Produced during defense
913943117406,

Produced by doctors
913943117407,

Produced by unqualified quacks
91394=2117408.
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Question Numnber : 102 Question Id : 91394329924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR e % v § P w2 2
Options :

913943117405. SEEUERCENE
013943117406, T& 0T % TRF I T 2
913943117407 & PRI QIO ST F }
013043117405, T& TG [oIheawl GRS BT 8

Question Number : 103 Question Id ; 91394329925 (Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List II
(a) PM40 knife (i) Used for springing off the skull cap
(b) Chainmail gloves (ii) Only useful in enucleation of eyes
(¢) T-shaped chisel (iii) May be used to section lung and liver
(d) Brain knife (iv) Commonly used in UK but not in India
(v) Used for conducting autopsy on HIV+ patients

Code:
Options :
grggasTizags. T By lek- Dy (d)- (il
sigsas g, o R0 (- Uy
s1zaas i gary, o kD, - twy (D
s1sganTizayn BB (el (d)-)

Question Number : 103 Question Id ; 91394329925 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et 1R wgi o =t 11w & e it ok e fyg T e 3 @ a6 s g |

gt 1

(a) 91.09.40 S1H
(b) =TS T

(d) uferss =g

B

Options :

913943117409,

913943117410.

913943117411.

913943117412.

qt I

() Gt 3 e A H IR | Ty Bt B
(i) e AtEl A qR Feprem § IwEntt

(¢) -l AR (i) Fpst i aHa wt Fr@fes w0 7 wgaa 8 w2
(iv) TMTaa: 9%, § T grar 8 7 o6 g d

(v) T=.Ims .+ wdieh % fore wanft grar 2

(a)—(iv), (b)—(v), (e)—(1), (d)—(iii)

(a)iii), (b)—(1), (e)HiD), (d)—(iv)

(a)-(d), (b)-(iii), (e)(iv), (d)—(ii)

(a)—(v), (b)—(iv), (e)—iii), (d)—(i)

prepp
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Question Number : 104 Question Id ;: 91394329926 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following are true regarding Cadaveric spasm ?

(i) mimies heat rigor

(ii) occurs when person was sleeping at the time of death

(iii) occurs instantaneously after death

(iv) molecular death does not occur

Choose the correct answer from the code given below :

Code:

Options :

913943117413.

913942117414

913942117415,

913943117416.

(i), (ii) and (iii) are correct

(i) and (iii) are correct

(iii) and (iv) are correct

(i) and (ii) are correct

Question Number : 104 Question Id : 91394329926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

AR FIMAIAA TSR ?
() S AFHA Y THa H S 2

(i) 79 FA1 2 54 Y F qHA Al goearaedn § gl

(i) g F TSI, FHTG BIaT 2

(iv) 3nfoes fre 721 g

fre Rw e %2 # | w9 IW i 9w ;
B

Options :

913943117413, , (i R (i) T &
913943117414, (i) M (i) T &
913943117415 (i) 3 (iv) ¥ 8
9139431174186, (0 3 i) W g

prepp
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Question Numnber : 105 Question Id : 91394329927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fatal hypoxia occurs when oxygen saturation of arterial blood drops to

Options :

91384311/7417.

913943117418.

91394311/419.

91394311 7420.

90 mm Hg

70 mm Hg

20 mm Hg

2 mm Hg

Question Number : 105 Question Id : 91394329927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o Tt wiea ot 2 S/ awHia T 1 SiTaRdioe dgea Heam B ST R |

Options :

913943117417.

90 firefirfiet ure
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70 Torefhfiet e

913943117418,
20 firefifiet are

913943117419.
firefirfiet e

913943117420.

Question Number : 106 Question Id : 91394329928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Phosphine liberated in the stomach in aluminum phosphide poisoning is toxic to all except

Options :

Lungs
913943117421,

Kidneys
913943117422,
913943117423 V6T

Heart
913943117424

Question Number : 106 Question Id ;: 91394329928 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

st | witaifea wieh Yghifam wierrs faumdieo 7 frefalad § @ feess fore e =i 2 2

Options :

913943117421. e
9133943117422. et
913942117423. i
913943117424. Ead

Question Number : 107 Question Id : 91394329929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Compression of the body within a narrow space resulting in asphyxia is known as

Options :
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Choking
913943117425,
913943117408, Dansdola

Burking
913943117427,

Wedgi
913943117428, £e

Question Number : 107 Question Id : 91394329929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ferelt Tehivl Tom o rn dgEa % wftreasy wafeadien gar 8, 39 1 el WA g ?

Options :

913943117425. ST
913943117426. v
913943117427. At
913943117425. ol

Question Number : 108 Question Id : 91394329930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Kevlar fibers were initially used for making soft body armour which was
replaced by ultra high molecular weight polyethylene fiber.

Reason (R): Kevlar fiber is not stable to UV light and loses its ability to stop bullets if wet.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943117429.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943117430.

(A) is true, but (R) is false.
913943117431.

(A) is false, but (R) is true.
913943117432,
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Question Numnber : 108 Question Id : 91394329930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= @ o Ry T €, foit A o e (A) R ofR g ok (R) % 1 et o ofi AR Ry g

% H TEN N AG IW AT |

FYT (A) : Faer T it AN # 70 IRE pa= 9 & fore s B smar o fraeht g @i @
Afer 3= SR Sifergemselia [ 1 s forem s @ |

de (R) : FIAL I T Fohrar 6 9 R 51t 1gan @ i fien 29 W it =t Aot < awan
g ag |

Options :

ST
913943117429 (&) 3T (R) TFF FEl § 71 (R), (A) I el 7

(A) 3t (R) SFt Tt &, 9g (R), (A) h ot sarem 7l R |
9129421174230,

(A) 9t 2, 9 (R) Teid 2 |
913943117431,

(A) TTeld 8, g (R) Tt 2 |
913943117432,

Question Number : 109 Question Id : 91394329931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following techniques can be applied for the examination of cement samples ?

Options :

UV-visible spectrome
913843117433, by

IR-spectrome
913943117434, oy

X-ray diffraction spectrome
913843117435, Y Y

Thin layver chromatograph
9138943117436, % e

Question Number : 109 Question Id : 91394329931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

diie % dvwa i i FA  fog FrafoRas # @ fea To+de ot oy e o o 2 2

Options :

qureTTil-geeen Sygiffa
913943117433.
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TS, IR,
913943117434,

uFa-2 faard= Segifufa
913943117435,
913943117436, el T oot

Question Number : 110 Question Id : 91394329932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which polymer is most commonly used for manufacturing food grade containers ?

Options :

Polyethylene
913943117437.

Pol ene
9139431174385. Yo

Poly ethylene terephthalate
913943117439.

Poly vinyl chloride
913942117440,

Question Numnber : 110 Question Id : 91394329932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g Aoft fesat % fafamion gg amr=aa: FeafoRaa @ 8 fora sgae st ya form <ot 2 2

Options :

s, T
013943117438, TCNER
siEa i, T SR
013943117440, T IS TARIES

Question Number : 111 Question Id : 91394329933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Narcoanalysis uses sedatives and hypnotics.
Reason (R):  Person lies using his imagination.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942117441,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943117442,

(A) is true, but (R) is false.
913943117443,

(A) is false, but (R) is true.
913943117444,

Question Number : 111 Question Id : 91394329933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e qt u= fGg 7 g, s @ T iR (A) B 3 @0 7 (R) @ | oAl =l 1y ok = fig e
e I SN TG I A |
SHFIT (A) : ARG § Feeael oK awiigent 1 A o ST @ |
@ (R) : SqfFd Y FHoT1 Hl IFFNT Fh FS Altdl g |

Options :

A) I (R T (R), (A) it gt savea
913943117441, ) QR T 2 T (R), (A) R T 2

(A) 3R (R) g1 Tt &, Tg (R), (A) < adt saren 78 R |
913943117442

(A) 9t 2, 9 (R) Teid 2 |
913943117443,

(A) Tl 8, W (R) Gt & |
913943117444,

Question Nuinber : 112 Question Id : 91394329934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
The book titled ‘Ames on Forgery’ has been authored by

Options :

Joseph Ames
913943117445,

913943117446, 1L2nsAmes



www.prepp.in .repp

Your Personal Exams Guide

913943117447, [L2TTIS Ames

913943117445, Daniel Ames

Question Number : 112 Question Id : 91394329934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘T A B i & sl geae % R §

Options :

913943117445, SR
913943117446, Sl
913943117447, SR
9139431174485, S

Question Number : 113 Question Id : 91394329935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

American Academy of Forensic Science was established in which of the following years ?

Options :

913943117449, 1948
913943117450. 1928
9133943117451. LB
913943117452. e

Question Number : 113 Question Id ;: 91394329935 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

IR TheHt A6 BRiUS qrEa A v fefafaa 4 3 e ad 8 2

Options :

913943117449, 1948
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913384311 7450. 10as
9133943117451. e
913943117452. 1938

Question Number : 114 Question Id ; 91394329936 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following is corroborative evidence ?

Options :
An evidence that supports other evidence
913943117453,
913943117454 An evidence that refutes other evidence
91394311745E, An evidence that associates an individual with another individual
An evidence that links an individual with a particular location
913942117456,

Question Number : 114 Question Id : 91394329936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

it wre i fafafad 9 @ e yer afonfia T sm w2 2

Options :
e forad 7= wned A gfee Bt B
913943117453,
913943117454, 0 et o A1 T TS BT
913943117455, Foradt pI¢ safea o safe @ Wit Biam
aren formd safaa forddt orafeifa fosie @ gear @
913943117458,

Question Number : 115 Question Id : 91394329937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : RSID blood test detects glycophorin A.
Reason (R):  Glycophorin A is present in cytoplasm of basophils.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942117457

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943117453,

(A) is true, but (R) is false.
913943117459,

(A) is false, but (R) is true.
913943117460,

Question Number : 115 Question Id : 91394329937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A9 Q) o Ry e E, Rl @ o aifiepem (A) # ot gga 7k (R) % 1 Al it afge oft AR Ry g
e I SN FH TG I A |
e (A) : ARG, AR, W T 5 GoRaey TEHIBET A 1 9a1 SddT 2 |

do (R) : ARG A SEifeer o qeicarnsy 4 faemm e 2

Options :

A) I (R AT (R), (A) it Tt =avea
913943117457, > ) QR A 2 T (R), (A) R Tl 2

(A) 3T (R) gFt 98 &, 9¢g (R), (A) A wdt saren 78 2 |
913942117458,

(A) Tt 2, T (R) Teid 2 |
913943117459,

(A) Ted 8, g (R) Tt & |
913943117460,

Question Number : 116 Question Id : 91394329938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Confirmatory tests for blood are
(i) Luminal test

(ii) Hemin crystal test

(iii) Wagenaar test

(iv) Spectroscopic examination
Choose the correct answer from the code given below :

Code:
Options :
(ii), (iii) and (iv) are correct
913943117461,
913943117462, ) and (iv) are correct
913943117463,
913943117464, ) and (iid) are correct

Question Number : 116 Question Id : 91394329938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wa % fore afdrgfee s w2
() ghre gdao

(i) 2 fopeea altar

(i) SR aero

(iv) TR e
fre Re e 52 & | wd IW = g

R
Options :

913943117461, (i), (i) 3 (iv) T &

013943117462, O T TE

913943117463, R (i) T R

913943117464, (i) M (i) ¥l &

Question Number : 117 Question Id ;: 91394329939 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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MMP-14, estrogen receptor « and fibrinogen can be used to detect

Options :

913943117465, Menstrual blood

913943117466, L°2TS

913943117467, Dreastmilk
Semen

913943117463,

Question Number : 117 Question Id : 91394329939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

w0 6.~ 14 RIS T8 AHT (o) 3 Srefeem st v Fafalas o 1 feas var o s fo
R T gt 8 2

Options :
913943117465, sl
ek
913843117466.
LE
913943117467, &
9138431174658. L

Question Number : 118 Question Id : 91394329940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
STRs are highly polymorphic. STR alleles per locus are

Options :
913943117469, 2—~2
913943117470, Sii-A00
500 — 1,000
913943117471,
1,000 — 10,000

913943117472.
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Question Numnber : 118 Question Id : 91394329940 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

8.8 3R, it agedt 3ia 3 | i aa A e, Tiiew i gem B R

Options :
913943117469, Pl
913943117470, A= d90
500 — 1,000
913943117471,
1,000 — 10,000
913943117472,

Question Number : 119 Question Id : 91394329941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The most widely used polymorphic serum protein for identification before DNA profiling was

Options :

Group-specific Component (Ge
913943117473, I = e

ou

913943117474, Ag groups

Gm and Km systems
913943117475,

Serum ha lobins
913943117476, ptog

Question Number : 119 Question Id : 91394329941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

.1 MEEfm @ 98 IguH + forg qaffees sq9es 9 @ e foran s aren sgedt @i 9idm
o

Options :
faf¥re we= (5.4,
913943117473. T ( )
913943117474, AT
Gm T4 Km worferat

913943117475.
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e Ferefa=g

913943117476,

Question Number : 120 Question Id ; 91394329942 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Which of the following are correct regarding Mitochondrial DNA Analysis ?
(i) mt DNA has 16,569 base pairs

(i) Each mitochondria contains 1{1'5 mt DNA strands

(iii) mt DNA is divided into 2 hyper variable regions - HVR1 and HVR2

(iv) HVR1 extends from bp 16,000 — 16,569
Choose the correct answer from the code given below :
Code:
Options :
Only (i), (ii) and (iii) are correct
913943117477. y @, @ ()

Only (i), (iii) and (iv) are correct
913943117478. R il v

Only (ii), (iii) and (iv) are correct
913943117479. Ll )

Only (i) and (iv) are correct
913943117430,

Question Number : 120 Question Id : 91394329942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt ET e S weg d ffafam d a s vt 8 2
(i) mt DNA % 16,569 24N I

@) e Tt § 10° mt DNA g 21 §
(iii) mt DNA st 2 stfquftadasfier &5t - HVR1 ot HVR2 ¥ fawifsa foran wman @

(iv) HVR1 i fa&a® bp 16,000 — 16,569 T 2id1 2
fre Rz me g2 # | T IR = g

B

Options :

oisgisidvdzy, PO AR GDENE

913943117473, S (D, i) AR () T
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913943117479, e (1), (i) 3R (iv) T &

913943117480, R (1) M (iv) T

Question Number : 121 Question Id : 91394329943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If the blood group of Father is M, Mother is MN, then the impossible blood group in child is

Options :

913943117481,

913943117482, M
913943117483, TN
913943117484, DobNend MN

Question Numnber : 121 Question Id : 91394329943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gfe, T 1 &0 W M, W1 1 MN g, a1 S 5l 37694 & 998 &

Options :

N
9135943117481.
913943117432, e
9135943117463, AN

N 3R MN
9135945117454, E':Fﬁ

Question Number : 122 Question Id : 91394329944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fisher and Race theory attempts to explain the inheritance of

Options :

ABO blood grou
9138943117485, B
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913943117456. el

Rh blood grou
913943117487, gt

913943117433, Secretor or non-secretor status

Question Number : 122 Question Id : 91394329944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e wd 1o fagra Feafefaa # @ froh qamfe i sarem 6 1w s 2 2

Options :

usft.3f. @
9139432117485, RS
913943117456, L

Rh @&d
913943117487, A

ara® 91 aEs feufd
9139431174883

Question Number : 123 Question Id : 91394329945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (4) : Defense wounds are usually found on hands.
Reason (R):  Most attacks are done by upper limbs rather than lower limbs.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943117489.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943117430.

(A) is true, but (R) is false.
9139431174%91.

(A) is false, but (R) is true.
913943117492.

Question Number : 123 Question Id : 91394329945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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= 3§t o fau e 8, FoFd @ o atfirsua (A) 2 3R @0 @ (R) 2 | Al =it gy i A= feg o
% 1 TN L TE ST YA |
fimyT (A) - Ifeeelt ara ar=aaan grdl W 9N e 8 |

a& (R) : SATERIT STITT AT h Tog FedA g fore e B |
Options :

A) I (R qdT (R), (A) it gt savea
913943117459, 0 ¢ ) TR W 2 T (R), (A) 7l 2

(A) 3R (R) g1 Tt &, Tg (R), (A) ¥ adt saren 78 R |
913943117490,

(A) 9t 2, 9 (R) Teid 2 |
913943117491,

(A) TTeld 8, g (R) Tt 2 |
913943117492,

Question Number : 124 Question Id : 91394329946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
(a) Fiber (1) Capillary electrophoresis
(C) DNA (111) Microse Py
(d) Soil (iv) Gas chromatography
Code:
Options :
i), (b)—(i S (d)—(
913943117493, (a)-(ii), (b)—(i), (e)iii), (d)—(iv)
913943117494, (a)—(iii), (b)(iv), (e)—(1), (d)—(ii)
EaE h s3 . d .
S1zgas ITaes, b, (et (-0)
: L] h 4 L d ;
s1sgugTizace, o (B, (-G, (d)-Uv)

Question Number : 124 Question Id ; 91394329946 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in

it 1t wel o 11 R A & s it il = e T e | 4w s git |

gt I
(a) P
(b) UeepIgiat
(c) ST,

(d) q<I
C -

Options :

91394311 7493.

91384311/7454.

913394311 7495.

91394311/7496.

et 10
() Hied SEeria
(i) dt.u=, diew

(iii) WTgshrehIdt
(iv) 9 wiEduTd

(a)-(ib), (b)-(i), (e){iii), (d)-(iv)

(a)-(iii), (b)—(ii), (e)—(iv), (d)-(i)

(a)—(1), (b)—(ii), (e)(iii), (d)—(iv)
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Your Personal Exams Guide

Question Number : 125 Question Id : 91394329947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a part of documentation of scene of crime ?

Options :

9133943117497.

91394311/7498.

913943117459,

913943117500.

Note taking at scene of crime

Photography at scene of crime

Protection of scene of crime

Sketching of scene of crime

Question Number : 125 Question Id : 91394329947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafiaa # @ Fa-ar 29Uy e * TarEs TG AT T8#7 2 2

Options :

913942117497,

913943117498.

Uy Te gL feogft fermmn

YUY T | BIRITTE
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913943117499. IS

913942117500. S

Question Number : 126 Question Id ; 91394329948 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The author of the book titled ‘The Examination and Typing of Bloodstains in the Crime

Laboratory’ is
Options :
913943117501, ol Landsteiner
Alec Jeffreys
913843117502,
Kary Mullis
913843117503,
Bryan Culliford
913843117504,

Question Number : 126 Question Id : 91394329948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

R wefiTE wE TR o sHsea 1 ¢ HiEd qaiedl’ T JEah & aEw 8

Options :

913943117501, e AR
913943117502, Ll
913943117503. ﬁq&ﬂ[
913943117504, I FRTOS

Question Number : 127 Question Id : 91394329949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

should be able to demonstrate every single step undertaken to ensure
traceability and continuity of evidence from crime scene to court room.

Options :
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First Information Report
913942117505,

Case di
913843117506, ay

Chain of custody
913943117507.

Daily di
913943117508. I

Question Number : 127 Question Id : 91394329949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafad @ & foramt 190y Toa @ =maTerd 7o 915 it sgumifiaar o Preaa gt @ &
fere fopT T Wk e <t guiE ST =Ry 2

Options :

913943117505.

SoROT SfreHAt

913943117506.

i sgaet
913943117507.

o

9139431175038

Question Number : 128§ Question Id : 91394329950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List IT
(a) Suicide (i) Section 300 IPC

(b) Culpable homicide amounting to murder (ii) Section 304 A IPC
(¢) Culpable homicide not amounting to murder (iii) Section 376 IPC
(d) Causing death by negligence (iv) Section 299 IPC

(v) Section 309 IPC
Code:

Options :

913943117509, (a)—(v), (b)—(ii), (e)iii), (d)—(iv)

sigeasiireig, ‘B Wb, (=D, (d)-(v)
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913943117511, (a)-(1), (b)~(iv), (e)—(ii), (d)—iii)

913943117512, (7 (-, (€)~(iv), (d)-(1)

Question Number : 128 Question Id ; 91394329950 (Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (
=t 1R wgt o = 11 et & e Fifsg ok e feg e e 3 @ ad s i g |
et 1 et I
(a) TEHET () WI.E.4. it 917 300
(b) UL WHAIY S gA-qeA & (i) WI.E.H. ¥ 4RI 304 A
(¢) R AHIEY T geA-qeq 7 & (iii) W1.5.9. P 91 376
(d) SATRATE & F1 TE T (iv) M1.3.9. S 41T 299
(v) W.EH. F 9™ 309
6
Options :

913943117509 (@)~(v), (b)—(ii), (e)-{iii), (d)—(iv)

913943117510, (a)—(ii), (b)—iii), (¢)—(1), (d)—(v)

gizgaziizery 0 B-9); (©AUER (1]

91394311751, B B0, (=), (d)=(i)

Question Number : 129 Question Id ; 91394329951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Section 84 IPC exonerates a person from responsibility of any crime
committed by him.

Reason (R): A mentally ill person does not know what he is doing.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943117513,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913942117514,

(A) is true, but (R) is false.
913943117515,
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(A) is false, but (R) is true.
91294=2117516.

Question Numnber : 129 Question Id : 91394329951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A= 3 Hy= fu M §, Rl @ v fiua (A) 3 3@ 7 (R) B | i it vfee ok R R e
e T AN R T ST G |

fyFeT (A) : WA <2 Wigar i arr 84 1 Forelt safes =it 3o g wifta oy & R A 0w
T g |

dh(R) : WAL Al 319w Foa B AT @ar R |

Options :
A) 3R (R a9t (R), (A) h g sarem
913943117513, o M ) ST T 2 T4 (R), (A) B H@ 21
(A) 3R (R) il Wl &, T (R), (A) P Tt sarem T 2 |
913943117514,
A) - R) Tid 2 |
913943117515. (&) TR, WY 8
A) Td &, R) 1
913943117516 ( 8 W (R AR

Question Number : 130 Question Id : 91394329952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Gerber method is used to detect

Options :

913943117517, ratinmik
Sperms in semen

913943117518,

913943117519, 1P in blood
Amylase in saliva

913943117520,

Question Number : 130 Question Id : 91394329952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

srait fafer w1y Presfefaa o @ forgest war s o fere fera wman 2 2

Options :
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913943117517, el
T L
913943117519, T 1 Qe
si38dzii7en0, T wE

Question Number : 131 Question Id : 91394329953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rapid Stain Identification Series (RSID) helps to detect

Options :
913943117501 2iiva and blood

Blood, urine and semen
913943117522
913943117503, emen and bleod

Saliva, blood, urine and semen
913943117524,

Question Number : 131 Question Id : 91394329953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a0 ged g JEdr (IR.wE.9.2.) & Frafafas % 2 foraes aqge o wemat fradt 2 2

Options :
913943117521, R

wh, I AR i
913943117522,
913943117523, T M

AR, T, g7 I 4t
913943117524,

Question Number : 132 Question Id : 91394329954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which is correct about milk ?
Options :

Specific gravity is 1:025 — 1-035 and pH is 6-6
913943117525. graviy ]J

Specific gravity is 1:025 — 1-0385 and pH is 10-6
913943117526. graviy g

Specific gravity is 1-21 — 1-:31 and pH is 7-0
913943117527. gty .

Specific gravity is 2-2 — 3-2 and pH is 2'5
913943117528. BT, P

Question Nuinber : 132 Question Id : 91394329954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

o0 3 G § AR w2 2

Options :

faf¥ree T 1026 & 1-036 a1 2 2R 4.9, W 66 qaT 2
913943117525,

faf¥ree e 1-026 & 1-035 2t 2 2R 9.9, W 106 BT ®
913943117526,

fare e 121 @ 131 S R o fhuw. A 70 BT @
913943117527,

fafree Toea 2.2/ 3-2 2T 2 IR fh.u, A= 25 BT R
913943117528,

Question Number : 133 Question Id : 91394329955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mab 4E6
(i) Can be used to identify seminal stains
(ii) Isnot found in animal semen
(iii) Can be used to identify fecal stains
(iv) Isfound in azoospermic persons
Choose the correct answer from the code given below :

Code:

Options :

i), (ii) and (iv) are correct
913943117529, @, @) L

(i) and (ii) are correct
913943117530,



www.prepp.in .repp

Your Personal Exams Guide

Only (iii) is correct
913942117521,

(i) and (iv) are correct
913943117532,

Question Number : 133 Question Id : 91394329955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ia 436

() i % el i vgE % fore v fomen o g B

(i) gypait % offef & = arn s 2

(i) fereaT % gaat B TgAE FH 5 ey foran s gkt B

(iv) yerrpfrd safeat & oft arn st 2
Frer e e e # | T W+ gie
C T4

Options :

913943117529, (0; 6> AR fv) WY
913943117530. (0 K (i) T @
913943117531, e (i) 70 R
913943117532, M M (iv) ¥ 2

Question Number : 134 Question Id : 91394329956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the active growth phase of human hair ?

Options :

Anagen
913943117533.

Catagen
913943117534.

Telogen
913943117535.

Follicogen

913943117536.
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Question Numnber : 134 Question Id : 91394329956 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

frafeafas 3 & S-m e B0 A abe afg w T g 2
Options :

TS

913943117533.
91394311/7534.
913942117535.
913942117536.

Question Number : 135 Question Id ; 91394329957 (Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Feag wiam frefofiaa # @ foraent war s % forg foman s 2 2

Options :

913943117537. i
913943117538. ot
913943117539. Tk
913943117540, S

Question Number : 135 Question Id ; 91394329957 (Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Phadebas test is used to detect
Options :

913943117537, oS

913943117535, ~owen

913943117539, “2iva

912942117540,



www.prepp.in .repp

Your Personal Exams Guide

Question Nuinber : 136 Question Id : 91394329958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Presence of Déderlein’s bacillus in a suspect stain, indicates that it could be

Options :

913943117541, “alva
Semen

913943117542

913943117543, ' omutus
Vaginal fluid

913943117544, | B0

Question Number : 136 Question Id : 91394329958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fereft afery aeat ® “Feafiswe=a wfted’ femm R e Pefg g2 e s i
qHat 8 |

Options :

913943117541, RIE.

913943117542, Sl

913943117543, O

913943117544, A A

Question Number : 137 Question Id ; 91394329959 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In a suspect stain, high amount Tamm-Horsfall Protein (THP) has been detected. Suspect
stain is likely to be

Options :
Vaginal fluid
913943117545, | B0
913943117546, ' Omutus
Feces

913943117547,
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913943117548, ~rne

Question Number : 137 Question Id : 91394329959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afe ferelt wfw v 3 3n Pefwia WA (.o ft.) sga il wfoma 3 arn e 2, ot |@foa gen
fefefesda st a2 2

Options :

913943117545. N
913943117546. -
912942117547, il
913943117545. =

Question Number : 138 Question Id : 91394329960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In crude oil, which one of the non-hydrocarbon elements is most abundant ?

Options :

Oxygen
912942117549, Y8

Sulphur
9123942117550,

Ni en
9123942117551, g
913943117550, elum

Question Number : 138 Question Id : 91394329960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 9@ ¥ Freafafas § @ FiR-a1 Mogngieny o galfs wiv e § g g 2
Options :

913943117549.

912942117550,
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T

9129421175851,

diferam

91394311/7552.

Question Number : 139 Question Id : 91394329961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (4) : Changes in writing written on digital pad may be usually of superficial
nature and there is no effect on individual writing characteristics.

Reason (R) : Digital pad, as an environment to write is different than that of paper, the
conventional medium of writing.

Options :

Both (A) and (R) are incorrect.
913943117553,

B ;
913945117554 oth (A) and (R) are correct

(A) is true, but (R) is false.
913943117555,

(A) is false, but (R) is true.
913943117556,

Question Number : 139 Question Id : 91394329961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= @ o Ry &, fomit 3 o i (A) 2 of g@a 76 (R) B | et 1 ol ofk = Ry o
%e H TEN T AG IW AT |
g (A) : Tesfiea $3 W foflaa oaw # fope o aftads amraaa aadt wofa % 2 gd § 3t
SIS oRE A0 TS 9 7 2T 2 |

d (R) : foshiea T W orgw vgft w@a & i aream-sns 1 fores a adan s g |
Options :

013043117553, W R R) I I ¥

913943117554. Ry RET

(A) T ], TG (R) Terad 2 |
913943117555,

A) Td &, R) l
913943117556. ( %"-’Rﬁ( i
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Question Number : 140 Question Id : 91394329962 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

A child learns writing through a set of model writing alphabets. Which of the following is
the correct term for these model writings ?

Options :

Copy book form
913943117557.

Master pattern of writing
9139431175585.

Model signature
913943117559, e

Seript writing
913943117560.

Question Number : 140 Question Id : 91394329962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl Th AT AGH 901 o TH=4 = "reaw @ forgn draan 2 | ey oaq + forg Fafafaa § @

el 9 HA-A1 R ?
Options :
Il g F&9
913943117557
913943117558, e AR S
913943117559. I TR
fafy sem
913943117560.

Question Number : 141 Question Id ; 91394329963 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

In methyl aleohol poisoning, there is central nervous system depression, cardiac depression
and blindness. These effects are produced due to which of the following ?

Options :

Formaldehyde and formic acid
913943117561.

Acetaldehyde
913943117562.
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Pyridine
91294=2117563.

913943117564, ‘eetic acd

Question Number : 141 Question Id ; 91394329963 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

4R¥ra Ueapigiar faumhipeo #, Sefia g 9 v, efes e o otgrs g 2 13 T

freaferfas & | fohas SR I B B 2
Options :
Fieelggs ok il e
913943117561,
913943117562,
915945117563.
913943117564,

Question Number : 142 Question Id : 91394329964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The impurity profile of an illicit drug is performed by analyzing natural
components, byproducts, cutting agents which help to generate a complete
history of the sample and thus in its characterization.

Reason (R) : It isused to establish specific links between two or more illicit samples.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943117565,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943117566.

(A) is true, but (R) is false.
913943117567.

(A) is false, but (R) is true.
913943117568.

Question Number : 142 Question Id : 91394329964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

A9 Q) F feu mu E, RFd | & ity (A) # o gu 9% (R) # | Sl i wfgn ot AR fyg Mo

% AN H g W gOT |

i (A) : Torelt s sitafl it srggan &t Srema Tt guent wiea, sitralsd 1 fed
¢ for s 2 | Fra@ dwa 1 Pl ydaw weqa 6 7 ggmat fradt 2 ok 38 wR
T Aftrengires 17 1 ot IaT ern 2

dh(R): O AN QW g A At adw Svrw % wea Tl geg wonfa w % fog foem
S 2 |

Options :

A) 3R (R a9t (R), (A) h g sqare
913943117565, b ) T T 2 T4 (R), (A) B H@ 2l

(A) 3R (R) <t ot &, 7g (R), (A) it wdt sarem Td 2 |
913943117566,

(A) T ], TG (R) Terad 2 |
913943117567,

A) Td &, R) l
913943117563. ( %"-’Rﬁ( i

Question Number : 143 Question Id : 91394329965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Crotin, a glycoside of croton tiglium, belongs to which of the following classes of poison ?

Options :

913943117569, Cardiac

913943117570, eurotic

913943117571, Cerepral

913943117570, lrmtant

Question Number : 143 Question Id : 91394329965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ShICI ISt i TaTgehtanse, shide FrfeiRag 4 1 fora faw < 2oft & et

2?7
Options :
ot
913942117569, e

913943117570.
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91394311/7571.

ghee

913943117572.

Question Number : 144 Question Id : 91394329966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Indane belongs to which of the following ?

Options :
Naphthenes
913943117573
913943117574, ‘\lkenes
Aliphatics
913943117575,
913943117576, ‘romatics

Question Number : 144 Question Id : 91394329966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

5o+ Fafefaa 9 4 forod Tafta 2 2
Options :
913943117573.
913943117574,
913943117575.
913943117576.

Question Nuinber : 145 Question Id : 91394329967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Widmark equation is used to calculate

Options :

913943117577, reath aleohol concantration
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913943117578, Diood aleohol concentration

913943117579, Urine alcohol concentration

913943117550 o veat alcohol concentration

Question Number : 145 Question Id ;: 91394329967 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

fergarh wvfrencor st s Frafafaa § @ foraes afterea s o T 2 2

Options :

At ® Vehiglia & g
913943117577

T H Usnigial Al QigW
913943117578

T3 o Ueehigial i I
913943117579.

% Uewhlaliel 1 Azl

913943117580. W

Question Number : 146 Question Id : 91394329968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following enzymes regulates the metabolism of opiates ?

Options :

913943117581. SULT 2
913943117532. GxEaLe
913943117535. COML
913943117584, L

Question Number : 146 Question Id : 91394329968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafifaa & @ a-ar warga i @ g 3ea % suve ot fafafe s g 2

Options :
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T84T &.2
913943117581,

.. f.2dh 6
913943117532,

ot o1 .
913943117583,

s ¢

913043117584,

Question Number : 147 Question Id : 91394329969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following microcrystal tests is used to distinguish among three amphetamines ?

Options :
Gold chloride volatility test
913943117585,
91394311758, Nercuric iodide
Potassium permanganate
913943117587,
913943117585, ead iodide

Question Number : 147 Question Id : 91394329969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

17 UfFkerm=a ¥ favig w1 % foe Feafafaa | @ fora wrgshifreea wliemn st e fora s 2 2

Options :
Ties FAREe difefed of
9138431175385, i
qHffis TieEs
913943117586,
913943117587,
S IS
913843117588.

Question Number : 148 Question Id : 91394329970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Oxycodone is synthesized from which of the following ?

Options :
913943117589, Codeine
913943117590, I hebaine
Eecgonine
913943117591,
Noscapine
913943117592,

Question Nuinber : 148 Question Id : 91394329970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FiaipIeiA FI wyeso fefRad # @ frad gar 3 2

Options :

913943117539. I
913943117530. Rrfi
913943117531.
913943117582 L

Question Number : 149 Question Id : 91394329971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Acetic anhydride is used in the illicit synthesis of which of the following ?

Options :

Methaqualone
913943117583,

Psilocybin
913943117594, e
913943117595, Mescaline

Phencyclidine
913943117596,

Question Nuinber : 149 Question Id : 91394329971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



www.prepp.in .repp

Your Personal Exams Guide
Correct Marks : 2 Wrong Marks : 0

Wi TrarRerss Wy fafafga # @ feass 21da dyetow # forn s

8?7
Options :
913943117593.
913843117594,
Hehfer
9123943117595,
913845117596.

Question Number : 1530 Question Id : 91394329972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Phase-1 oxidation reactions are catalyzed by which of the following ?

Options :

913943117597, MO8
913943117598, oIS
913943117599, CIr
913943117600, ALS

Question Number : 150 Question Id : 91394329972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafaa d @ HR-an w1 sitwfiwon siifra s 3S/s ] 2

Options :

913043117507, PO

s13943117508,

913943117599,
LA

913943117600,



